THE BID COMMITTEE WILL MEET IN THE CITY CLERK'S CONFERENCE ROOM, 200 N. WALKER 2ND FLOOR, MUNICIPAL BUILDING, AT 10:00 A.M. OR LATER.

City Clerk

Bid Committee Bid Tab

Bid UPCSS-0001 Ended At Mar 12, 2025 10:00:00 AM CDT CONSTRUCTION/CITY - Concrete Street and Sidewalk Improvements

Company:	EMC SERVICES LLC	Rudy Construction Co.	MTZ Construction Inc.,
BASE BID	\$4,678,174.00	\$4,871,450.00	\$4,951,367.45
TOTAL BID:	\$4,678,174.00	\$4,871,450.00	\$4,951,367.45

Company:	Ellsworth Construction OKC dba A- Tech Paving	SAC Services	Silver Star Construction Company
BASE BID	\$4,992,023.78	\$5,500,849.00	\$7,450,710.00
TOTAL BID:	\$4,992,023.78	\$5,500,849.00	\$7,450,710.00

Tresha Williams	Hannah Adams	Tim Alvarez
City Clerk	Purchasing Agent	Auditor

Potential Bid Defects Noted:

- #1 Anti-collusion affidavit not properly notarized
- #2 Bid Bond missing
- #3 Bid Bond incorrect awarding agency
- #4 Bid Bond insufficient amount
- #5 Business relationship affidavit not properly notarized

THE BID COMMITTEE DOES NOT REJECT OR ACCEPT BIDS. The noting or failing to note on the bid tabulation any defect by the Bid Committee is not conclusive of the validity, regularity, completeness or legality of any bid. Questions regarding bid defects or irregularities should be directed to the Municipal Counselor's Office at (405) 297-2451.

Originating Department shall:

- 1. Carefully examine and evaluate all opened bids, including a review of potential defects noted by the Bid Committee;
- 2. Contact your legal representative prior to recommending contract award based on a bid with any potential or perceived irregularity or defect; and
- 3. Prepare a memorandum to Council or its Trusts with recommendations regarding contract award, listing all bids opened and noting any defects; and
- 4. Attach a copy of the Bid Committee's bid tabulation with the SIRE item recommending contract award as a non-published document for review by staff.

Bid #UPCSS-0001 - Concrete Street and Sidewalk Improvements

Creation Date **Jan 15, 2025** End Date **Mar 12, 2025 10:00:00 AM CDT**

Start Date Feb 12, 2025 7:49:40 AM CST Awarded Date Not Yet Awarded

UPCSS-0001-01-01 BASE BID: 200-00 UNCLASSIFIED EX	CAVATION				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
SAC Services 👔	First Offer - \$9.00	1500 / cubic yard	\$13,500.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:		
EMC SERVICES LLC	First Offer - \$12.00	1500 / cubic yard	\$18,000.00	Υ	Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes: BID Bo		THIS PAY	ITEM
MTZ Construction Inc., [Ad]	First Offer - \$12.00	1500 / cubic yard	\$18,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:		
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$22.00	1500 / cubic yard	\$33,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:		
Silver Star Construction Company	First Offer - \$23.00	1500 / cubic yard	\$34,500.00	Υ	Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:		
Rudy Construction Co.	First Offer - \$30.00	1500 / cubic yard	\$45,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:		

UPCSS-0001-01-02 BASE BID: 200-00 UNSUITABLE MATE	RIAL EXCAVATION				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Rudy Construction Co.	First Offer - \$12.00	1500 / cubic yard	\$18,000.00		Υ
Product Code:		Supplier Product Code	e:		
Agency Notes:		Supplier Notes:			
EMC SERVICES LLC	First Offer - \$12.00	1500 / cubic yard	\$18,000.00		Y
Product Code:		Supplier Product Code	e:		
Agency Notes:		Supplier Notes:			
MTZ Construction Inc., [Ad]	First Offer - \$12.00	1500 / cubic yard	\$18,000.00		Y
Product Code:		Supplier Product Code	e:		
Agency Notes:		Supplier Notes:			
SAC Services	First Offer - \$16.00	1500 / cubic yard	\$24,000.00		Y
Product Code:		Supplier Product Code	e:		
Agency Notes:		Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$24.00	1500 / cubic yard	\$36,000.00		Y
Product Code:		Supplier Product Code	e:		
Agency Notes:		Supplier Notes:			
Silver Star Construction Company	First Offer - \$30.00	1500 / cubic yard	\$45,000.00		Y
Product Code:		Supplier Product Code	e:		
Agency Notes:		Supplier Notes:			

UPCSS-0001–01-03 BASE BID: 220-02 PROOF ROLLING					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Rudy Construction Co.	First Offer - \$0.05	10000 / square yard	\$500.00		Υ

	110 114010			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
SAC Services 👔	First Offer - \$0.10	10000 / square yard	\$1,000.00	Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
EMC SERVICES LLC	First Offer - \$0.10	10000 / square yard	\$1,000.00	Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
Silver Star Construction Company	First Offer - \$0.20	10000 / square yard	\$2,000.00	Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
MTZ Construction Inc., [Ad]	First Offer - \$0.35	10000 / square yard	\$3,500.00	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$0.50	10000 / square yard	\$5,000.00	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		

UPCSS-0001-01-04 BASE BID: 225-00 AGGREGATE BASE	(TYPE A)				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Rudy Construction Co.	First Offer - \$70.00	2000 / cubic yard	\$140,000.00		Y
Product Code:		Supplier Product Code	e:		
Agency Notes:		Supplier Notes:			
EMC SERVICES LLC	First Offer - \$70.00	2000 / cubic yard	\$140,000.00		Y
Product Code:	Supplier Product Code	e:			
Agency Notes:		Supplier Notes:			
MTZ Construction Inc., [Ad]	First Offer - \$70.00	2000 / cubic yard	\$140,000.00		Y
Product Code:		Supplier Product Code	e:		
Agency Notes:		Supplier Notes:			
SAC Services	First Offer - \$72.00	2000 / cubic yard	\$144,000.00		Y
Product Code:		Supplier Product Code	e:		
Agency Notes:		Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$85.00	2000 / cubic yard	\$170,000.00		Y
Product Code:		Supplier Product Code	e:		
Agency Notes:		Supplier Notes:			
Silver Star Construction Company	First Offer - \$142.00	2000 / cubic yard	\$284,000.00		Y
Product Code:		Supplier Product Code	e:		
Agency Notes:		Supplier Notes:			

UPCSS-0001-01-05 BASE BID: 222-00 CEMENTITIOUS ST	ΆΙ	BILIZED SUBGRADE	(8 INCHES THICK COMPA	CTED)		
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Rudy Construction Co.		First Offer - \$1.25	30000 / square yard	\$37,500.00		Y
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$3.75	30000 / square yard	\$112,500.00		Y
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
EMC SERVICES LLC		First Offer - \$4.00	30000 / square yard	\$120,000.00		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
MTZ Construction Inc., [Ad]		First Offer - \$5.00	30000 / square yard	\$150,000.00		Y
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
Silver Star Construction Company		First Offer - \$7.50	30000 / square yard	\$225,000.00		Υ
Product Code:			Supplier Product Code:			

Agency Notes:		Supplier Notes:		
SAC Services 🙀	First Offer - \$9.00	30000 / square yard	\$270,000.00	Υ
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		

UPCSS-0001-01-06 BASE BID: 222-00 CEMENT SLURRY (4	1%)					
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Rudy Construction Co.		First Offer - \$250.00	500 / ton	\$125,000.00		Υ
Product Code:			Supplier Product C	ode:		
Agency Notes:			Supplier Notes:			
EMC SERVICES LLC		First Offer - \$270.00	500 / ton	\$135,000.00		Υ
Product Code:			Supplier Product C	ode:		
Agency Notes:			Supplier Notes:			
Silver Star Construction Company		First Offer - \$290.00	500 / ton	\$145,000.00		Υ
Product Code:			Supplier Product C	ode:		
Agency Notes:			Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$328.32	500 / ton	\$164,160.00		Υ
Product Code:			Supplier Product C	ode:		
Agency Notes:			Supplier Notes:			
MTZ Construction Inc., [Ad]		First Offer - \$350.00	500 / ton	\$175,000.00		Υ
Product Code:			Supplier Product C	ode:		
Agency Notes:			Supplier Notes:			
SAC Services		First Offer - \$480.00	500 / ton	\$240,000.00		Y
Product Code:			Supplier Product C	Code:		
Agency Notes:			Supplier Notes:			

UPCSS-0001-01-07 BASE BID: 312-00 DIAMOND GRIND	NG P.C. CONCRETE				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Rudy Construction Co.	First Offer - \$6.50	5000 / square yard	\$32,500.00		Υ
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$7.00	5000 / square yard	\$35,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MTZ Construction Inc., [Ad]	First Offer - \$10.00	5000 / square yard	\$50,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Silver Star Construction Company	First Offer - \$11.00	5000 / square yard	\$55,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
EMC SERVICES LLC	First Offer - \$12.00	5000 / square yard	\$60,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
SAC Services 👔	First Offer - \$13.50	5000 / square yard	\$67,500.00		Y
Product Code: Agency Notes:	,	Supplier Product Code: Supplier Notes:			

UPCSS-0001–01-08 BASE BID: 314-00 P C CONC PVMT (6 INCH) (4000 PSI HES 500 SY AND GREATER)										
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$55.99	10000 / square yard	\$559,900.00		Υ				
Product Code:			Supplier Product Code:							
Agency Notes:			Supplier Notes:							
EMC SERVICES LLC		First Offer - \$69.00	10000 / square yard	\$690,000.00		Υ				
Product Code:			Supplier Product Code:		-					

Agency Notes:		Supplier Notes:			
Rudy Construction Co.	First Offer - \$70.00	10000 / square yard	\$700,000.00		Υ
Product Code:	Supplier Product Code:				
Agency Notes:		Supplier Notes:			
MTZ Construction Inc., [Ad]	First Offer - \$70.00	10000 / square yard	\$700,000.00		Υ
Product Code:	Supplier Product Code:				
Agency Notes:		Supplier Notes:			
SAC Services	First Offer - \$83.00	10000 / square yard	\$830,000.00		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Silver Star Construction Company	First Offer - \$138.00	10000 / square yard	\$1,380,000.00		Υ
Product Code:	Supplier Product Code:				
Agency Notes:		Supplier Notes:			

UPCSS-0001–01-09 BASE BID: 314-00 PCC PAVEMENT (8 INCH) (4000 PSI HES) (REINF. CONC. VALLEY GUTTER)										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
EMC SERVICES LLC	First Offer - \$82.00	4000 / square yard	\$328,000.00		Υ					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
MTZ Construction Inc., [Ad]	First Offer - \$85.00	4000 / square yard	\$340,000.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Rudy Construction Co.	First Offer - \$95.00	4000 / square yard	\$380,000.00		Υ					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
SAC Services	First Offer - \$95.50	4000 / square yard	\$382,000.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Silver Star Construction Company	First Offer - \$110.00	4000 / square yard	\$440,000.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$117.88	4000 / square yard	\$471,520.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								

UPCSS-0001–01-10 BASE BID: 316-00 P C CONC PVMT (6 INCH) (DOWELL JOINTED) (4000 PSI HES)										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
EMC SERVICES LLC	First Offer - \$69.00	4000 / square yard	\$276,000.00		Υ					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$69.51	4000 / square yard	\$278,040.00		Υ					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
MTZ Construction Inc., [Ad]	First Offer - \$72.00	4000 / square yard	\$288,000.00		Υ					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Rudy Construction Co.	First Offer - \$75.00	4000 / square yard	\$300,000.00		Υ					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
SAC Services 🙀	First Offer - \$85.70	4000 / square yard	\$342,800.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Silver Star Construction Company	First Offer - \$141.00	4000 / square yard	\$564,000.00		Υ					
Product Code:		Supplier Product Code:								

Agency Notes: Supplier Notes:

UPCSS-0001–01-11 BASE BID: 316.00 P C CONC PVMT (8 INCH) (DOWELL JOINTED) (4000 PSI HES)										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
EMC SERVICES LLC	First Offer - \$78.00	4000 / square yard	\$312,000.00		Υ					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Rudy Construction Co.	First Offer - \$80.00	4000 / square yard	\$320,000.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
MTZ Construction Inc., [Ad]	First Offer - \$80.00	4000 / square yard	\$320,000.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$91.92	4000 / square yard	\$367,680.00		Υ					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
SAC Services	First Offer - \$92.45	4000 / square yard	\$369,800.00		Υ					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Silver Star Construction Company	First Offer - \$102.00	4000 / square yard	\$408,000.00		Υ					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								

UPCSS-0001–01-12 BASE BID: 316-00 P. C. CONC. PAVEMENT (10 INCHES) (DOWELL JOINTED) (4000 PSI, HES)										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Rudy Construction Co.	First Offer - \$85.00	2000 / square yard	\$170,000.00		Υ					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
EMC SERVICES LLC	First Offer - \$88.00	2000 / square yard	\$176,000.00		Υ					
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:								
MTZ Construction Inc., [Ad]	First Offer - \$90.00	2000 / square yard	\$180,000.00		Υ					
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:								
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$100.51	2000 / square yard	\$201,020.00		Υ					
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:								
SAC Services	First Offer - \$105.00	2000 / square yard	\$210,000.00		Y					
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:								
Silver Star Construction Company	First Offer - \$115.00	2000 / square yard	\$230,000.00		Υ					
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:								

UPCSS-0001–01-13 BASE BID: SP CURB AND GUTTER (ALL SIZES)										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Rudy Construction Co.	First Offer - \$30.00	3500 / linear foot	\$105,000.00		Υ					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
MTZ Construction Inc., [Ad]	First Offer - \$30.00	3500 / linear foot	\$105,000.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
SAC Services	First Offer - \$33.00	3500 / linear foot	\$115,500.00		Y					
Product Code:		Supplier Product Code	e:							

Agency Notes:		Supplier Notes:			
	First Offer - \$33.00	3500 / linear foot	\$115,500.00		Υ
Product Code:			e:		
		Supplier Notes:			
	First Offer - \$38.00	3500 / linear foot	\$133,000.00		Y
		Supplier Product Code:			
		Supplier Notes:			
	First Offer - \$48.00	3500 / linear foot	\$168,000.00		Υ
Product Code:		Supplier Product Code:			
		Supplier Notes:			
		First Offer - \$33.00 First Offer - \$38.00 First Offer - \$48.00	First Offer - \$33.00 3500 / linear foot Supplier Product Code Supplier Notes: 3500 / linear foot Supplier Product Code Supplier Product Code Supplier Notes: First Offer - \$48.00 3500 / linear foot	First Offer - \$33.00 3500 / linear foot \$115,500.00 Supplier Product Code: Supplier Notes: \$133,000.00 Supplier Product Code: Supplier Product Code: Supplier Notes: \$133,000.00 Supplier Product Code: Supplier Notes: \$168,000.00 Supplier Product Code: \$168,000.00 \$168,000.00	First Offer - \$33.00 3500 / linear foot \$115,500.00 Supplier Product Code: Supplier Notes: First Offer - \$38.00 3500 / linear foot \$133,000.00 Supplier Product Code: Supplier Notes: First Offer - \$48.00 3500 / linear foot \$168,000.00 Supplier Product Code: \$168,000.00

UPCSS-0001–01-14 BASE BID: SP INTEGRAL CURB (BARRIER)(6 INCH)										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Rudy Construction Co.	First Offer - \$8.00	1000 / linear foot	\$8,000.00		Υ					
Product Code:		Supplier Product Code	e:							
Agency Notes:		Supplier Notes:								
SAC Services 🙀	First Offer - \$8.00	1000 / linear foot	\$8,000.00		Y					
		Supplier Product Code Supplier Notes:	e:							
EMC SERVICES LLC	First Offer - \$9.00	1000 / linear foot	\$9,000.00		Υ					
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:								
Silver Star Construction Company	First Offer - \$13.00	1000 / linear foot	\$13,000.00		Υ					
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:							
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$14.00	1000 / linear foot	\$14,000.00		Υ					
Product Code:		Supplier Product Code Supplier Notes:	e:							
MTZ Construction Inc., [Ad]	First Offer - \$17.00	1000 / linear foot	\$17,000.00		Υ					
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:							

UPCSS-0001–01-15 BASE BID: SP INTEGRAL CURB (BARRIER)(8 INCH)										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
SAC Services 👔	First Offer - \$9.00	1000 / linear foot	\$9,000.00		Y					
Product Code: Agency Notes:	Supplier Product Code Supplier Notes:	e:								
Rudy Construction Co.	First Offer - \$10.00	1000 / linear foot	\$10,000.00		Υ					
Product Code: Agency Notes:	Supplier Product Code Supplier Notes:	e:								
EMC SERVICES LLC	First Offer - \$11.00	1000 / linear foot	\$11,000.00		Υ					
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:								
Silver Star Construction Company	First Offer - \$15.00	1000 / linear foot	\$15,000.00		Υ					
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:							
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$16.00	1000 / linear foot	\$16,000.00		Υ					
Product Code: Agency Notes:	Supplier Product Code Supplier Notes:	e:								
MTZ Construction Inc., [Ad]	First Offer - \$19.00	1000 / linear foot	\$19,000.00		Υ					
		Supplier Product Code Supplier Notes:	e:							

UPCSS-0001–01-16 BASE BID: SP INTEGRAL CURB FOR S	IDEWALKS (0 TO 12 INCI	H)		

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
SAC Services	First Offer - \$12.50	250 / linear foot	\$3,125.00		Y	
		Supplier Product Cod Supplier Notes:	le:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$14.00	250 / linear foot	\$3,500.00		Υ	
Product Code: Agency Notes:	Supplier Product Cod Supplier Notes:	le:				
Silver Star Construction Company	First Offer - \$16.00	250 / linear foot	\$4,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:			
MTZ Construction Inc., [Ad]	First Offer - \$19.00	250 / linear foot	\$4,750.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Rudy Construction Co.	First Offer - \$20.00	250 / linear foot	\$5,000.00		Υ	
		Supplier Product Cod Supplier Notes:	le:			
EMC SERVICES LLC	First Offer - \$25.00	250 / linear foot	\$6,250.00		Y	
		Supplier Product Cod Supplier Notes:	le:			

UPCSS-0001-01-17 BASE BID: 315-00 CLEANING AND SEA	UPCSS-0001–01-17 BASE BID: 315-00 CLEANING AND SEALING JOINTS IN PCC PAVEMENT							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
MTZ Construction Inc., [Ad]	First Offer - \$1.50	50000 / linear foot	\$75,000.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$1.70	50000 / linear foot	\$85,000.00		Υ			
		Supplier Product Code: Supplier Notes:						
Rudy Construction Co.	First Offer - \$1.75	50000 / linear foot	\$87,500.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
EMC SERVICES LLC	First Offer - \$2.00	50000 / linear foot	\$100,000.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
SAC Services	First Offer - \$2.30	50000 / linear foot	\$115,000.00		Υ			
Product Code:		Supplier Product Code: Supplier Notes:						
Silver Star Construction Company	First Offer - \$3.20	50000 / linear foot	\$160,000.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		·				

UPCSS-0001-01-18 BASE BID: 315-00 CLEANING AND SEA	ALING CRACKS IN PCC	PAVEMENT				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
MTZ Construction Inc., [Ad]	First Offer - \$1.60	25000 / linear foot	\$40,000.00		Υ	
		Supplier Product Code: Supplier Notes:				
Rudy Construction Co.	First Offer - \$1.75	25000 / linear foot	\$43,750.00		Υ	
Product Code:	Supplier Product Code:					
Agency Notes:		Supplier Notes:				
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$1.80	25000 / linear foot	\$45,000.00		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
EMC SERVICES LLC	First Offer - \$2.00	25000 / linear foot	\$50,000.00		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				

SAC Services 🙀	First Offer - \$2.40	25000 / linear foot	\$60,000.00	Υ
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		
Silver Star Construction Company	First Offer - \$3.20	25000 / linear foot	\$80,000.00	Υ
Product Code:		Supplier Product Code:	:	
Agency Notes:		Supplier Notes:		

UPCSS-0001-01-19 BASE BID: 404-00 STRUCTURAL CONC	CRETE					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
SAC Services 👔	First Offer - \$480.00	50 / cubic yard	\$24,000.00		Y	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$500.00	50 / cubic yard	\$25,000.00		Y	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
Rudy Construction Co.	First Offer - \$600.00	50 / cubic yard	\$30,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
EMC SERVICES LLC	First Offer - \$600.00	50 / cubic yard	\$30,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
MTZ Construction Inc., [Ad]	First Offer - \$950.00	50 / cubic yard	\$47,500.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
Silver Star Construction Company	First Offer - \$2,135.00	50 / cubic yard	\$106,750.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			

UPCSS-0001-01-20 BASE BID: 404-04 CONCRETE (FLOWA	BLE FILL)						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$185.00	50 / cubic yard	\$9,250.00		Υ		
Product Code:		Supplier Product Co	ode:				
Agency Notes:		Supplier Notes:					
Rudy Construction Co.	First Offer - \$200.00	50 / cubic yard	\$10,000.00		Υ		
Product Code:		Supplier Product Co	ode:				
Agency Notes:		Supplier Notes:					
SAC Services 🙀	First Offer - \$220.00	50 / cubic yard	\$11,000.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
EMC SERVICES LLC	First Offer - \$220.00	50 / cubic yard	\$11,000.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
MTZ Construction Inc., [Ad]	First Offer - \$250.00	50 / cubic yard	\$12,500.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Silver Star Construction Company	First Offer - \$535.00	50 / cubic yard	\$26,750.00		Υ		
Product Code:		Supplier Product Co	ode:				
Agency Notes:		Supplier Notes:					

UPCSS-0001–01-21 BASE BID: 411-00 REINFORCING STEEL								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
SAC Services 👔	First Offer - \$1.50	1500 / pound	\$2,250.00		Y			
Product Code:	Supplier Product Co	ode:						

Agency Notes:			Supplier Notes:			
EMC SERVICES LLC		First Offer - \$2.00	1500 / pound	\$3,000.00	Y	
Product Code:			Supplier Product Co	ode:		
Agency Notes:			Supplier Notes:			
Silver Star Construction Company		First Offer - \$2.15	1500 / pound	\$3,225.00	Y	
Product Code:			Supplier Product Co	ode:		
Agency Notes:			Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$3.00	1500 / pound	\$4,500.00	Y	
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
MTZ Construction Inc., [Ad]		First Offer - \$3.50	1500 / pound	\$5,250.00	Y	
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
Rudy Construction Co.		First Offer - \$4.00	1500 / pound	\$6,000.00	Y	
Product Code:			Supplier Product Co	ode:		
Agency Notes:			Supplier Notes:			

UPCSS-0001-01-22 BASE BID: 451-01 (CGMP) STORM PIPI	E (18 INCH)						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Rudy Construction Co.	First Offer - \$45.00	100 / linear foot	\$4,500.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
EMC SERVICES LLC	First Offer - \$45.00	100 / linear foot	\$4,500.00		Υ		
Product Code:		Supplier Product Co	de:				
Agency Notes:		Supplier Notes:					
SAC Services	First Offer - \$50.00	100 / linear foot	\$5,000.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$60.05	100 / linear foot	\$6,005.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
MTZ Construction Inc., [Ad]	First Offer - \$70.00	100 / linear foot	\$7,000.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Silver Star Construction Company	First Offer - \$103.00	100 / linear foot	\$10,300.00		Υ		
Product Code:		Supplier Product Co	de:				
Agency Notes:		Supplier Notes:					

UPCSS-0001-01-23 BASE BID: 451-02 (CGMP) PREFAB EN	D SECTION (18 INCH)					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Rudy Construction Co.	First Offer - \$350.00	4 / each	\$1,400.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
EMC SERVICES LLC	First Offer - \$380.00	4 / each	\$1,520.00		Υ	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:			
SAC Services 👔	First Offer - \$495.00	4 / each	\$1,980.00		Υ	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$600.00	4 / each	\$2,400.00		Υ	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:			
MTZ Construction Inc., [Ad]	First Offer - \$800.00	4 / each	\$3,200.00		Υ	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:			

Silver Star Construction Company	First Offer - \$1,290.00	4 / each	\$5,160.00	Υ
Product Code:		Supplier Product (Code:	
Agency Notes:		Supplier Notes:		

UPCSS-0001–01-24 BASE BID: 451-05 (CGMP) STORM PIP	E (24 INCH)					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Rudy Construction Co.	First Offer - \$55.00	100 / linear foot	\$5,500.00		Υ	
Product Code:		Supplier Product Co	de:			
Agency Notes:		Supplier Notes:				
SAC Services 🙀	First Offer - \$60.00	100 / linear foot	\$6,000.00		Y	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:			
EMC SERVICES LLC	First Offer - \$60.00	100 / linear foot	\$6,000.00		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$66.20	100 / linear foot	\$6,620.00		Y	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:			
MTZ Construction Inc., [Ad]	First Offer - \$75.00	100 / linear foot	\$7,500.00		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Silver Star Construction Company	First Offer - \$124.00	100 / linear foot	\$12,400.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:			

UPCSS-0001-01-25 BASE BID: 451-06 (CGMP) PREFAB ENI	SECTION (24 INCH)					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Rudy Construction Co.	First Offer - \$500.00	4 / each	\$2,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
EMC SERVICES LLC	First Offer - \$530.00	4 / each	\$2,120.00		Υ	
Product Code: Agency Notes:	Supplier Product (Supplier Notes:	Code:				
SAC Services 👔	First Offer - \$580.00	4 / each	\$2,320.00		Υ	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$700.00	4 / each	\$2,800.00		Υ	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:			
MTZ Construction Inc., [Ad]	First Offer - \$800.00	4 / each	\$3,200.00		Υ	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:			
Silver Star Construction Company	First Offer - \$1,510.00	4 / each	\$6,040.00		Υ	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:			

UPCSS-0001–01-26 BASE BID: 453-12 REINFORCED CONCRETE PIPE 18 INCH O RING							
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs	
EMC SERVICES LLC		First Offer - \$60.00	100 / linear foot	\$6,000.00		Υ	
Product Code:			Supplier Product Cod	de:			
Agency Notes:			Supplier Notes:				
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$60.00	100 / linear foot	\$6,000.00		Υ	
Product Code:			Supplier Product Cod	de:			
Agency Notes:			Supplier Notes:				

SAC Services	First Offer - \$68.00	100 / linear foot	\$6,800.00	Υ
Product Code:		Supplier Product Cod	le:	
Agency Notes:		Supplier Notes:		
Rudy Construction Co.	First Offer - \$70.00	100 / linear foot	\$7,000.00	Υ
Product Code:		Supplier Product Cod	le:	
Agency Notes:		Supplier Notes:		
MTZ Construction Inc., [Ad]	First Offer - \$80.00	100 / linear foot	\$8,000.00	Υ
Product Code:		Supplier Product Cod	le:	
Agency Notes:		Supplier Notes:		
Silver Star Construction Company	First Offer - \$91.00	100 / linear foot	\$9,100.00	Υ
Product Code:		Supplier Product Cod	le:	
Agency Notes:		Supplier Notes:		

UPCSS-0001–01-27 BASE BID: 453-13 REINFORCED CONCRETE PIPE 24 INCH O RING								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
SAC Services 👔	First Offer - \$79.00	100 / linear foot	\$7,900.00		Υ			
		Supplier Product Co Supplier Notes:	de:					
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$81.00	100 / linear foot	\$8,100.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:					
EMC SERVICES LLC	First Offer - \$84.00	100 / linear foot	\$8,400.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:					
Rudy Construction Co.	First Offer - \$85.00	100 / linear foot	\$8,500.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:					
MTZ Construction Inc., [Ad]	First Offer - \$90.00	100 / linear foot	\$9,000.00		Υ			
Product Code:		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						
Silver Star Construction Company	First Offer - \$118.00	100 / linear foot	\$11,800.00		Y			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:					

UPCSS-0001-01-28 BASE BID: 453-19 REINFORCED CONC	RETE PIPE END SECTION (18 INCH)				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Doc	
Rudy Construction Co.	First Offer - \$1,000.00	4 / each	\$4,000.00		Υ	
		Supplier Product Code: Supplier Notes:				
EMC SERVICES LLC	First Offer - \$1,000.00	4 / each	\$4,000.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:			
SAC Services 📦	First Offer - \$1,120.00	4 / each	\$4,480.00		Y	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$1,225.00	4 / each	\$4,900.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:			
MTZ Construction Inc., [Ad]	First Offer - \$1,500.00	4 / each	\$6,000.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:			
Silver Star Construction Company	First Offer - \$2,800.00	4 / each	\$11,200.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:			

UPCSS-0001–01-29 BASE BID: 453-25 REINFORCED CONC	RETE PIPE END SECTION ((24 INCH)			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Rudy Construction Co.	First Offer - \$1,200.00	4 / each	\$4,800.00		Y
Product Code:		Supplier Product (Code:		
Agency Notes:		Supplier Notes:			
EMC SERVICES LLC	First Offer - \$1,200.00	4 / each	\$4,800.00		Y
Product Code:		Supplier Product (Code:		
Agency Notes:		Supplier Notes:			
SAC Services	First Offer - \$1,300.00	4 / each	\$5,200.00		Y
Product Code:		Supplier Product (Code:		
Agency Notes:		Supplier Notes:			
MTZ Construction Inc., [Ad]	First Offer - \$1,500.00	4 / each	\$6,000.00		Y
Product Code:		Supplier Product (Code:		
Agency Notes:		Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$1,545.00	4 / each	\$6,180.00		Y
Product Code:		Supplier Product (Code:		
Agency Notes:		Supplier Notes:			
Silver Star Construction Company	First Offer - \$3,000.00	4 / each	\$12,000.00		Y
Product Code:		Supplier Product (Code:		
Agency Notes:		Supplier Notes:			

UPCSS-0001-01-30 BASE BID: 454-34 DESIGN 2-0 INLET CO	MPLETE IN PLACE				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Rudy Construction Co.	First Offer - \$3,000.00	10 / each	\$30,000.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
EMC SERVICES LLC	First Offer - \$3,500.00	10 / each	\$35,000.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
SAC Services 🙀	First Offer - \$3,800.00	10 / each	\$38,000.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
MTZ Construction Inc., [Ad]	First Offer - \$4,000.00	10 / each	\$40,000.00		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Silver Star Construction Company	First Offer - \$6,000.00	10 / each	\$60,000.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$6,209.15	10 / each	\$62,091.50		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		

UPCSS-0001–01-31 BASE BID: 454-37 DESIGN 2-1 INLET COMPLETE IN PLACE									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$4,000.00	2 / each	\$8,000.00		Y				
Product Code:		Supplier Product (Code:						
Agency Notes:		Supplier Notes:							
EMC SERVICES LLC	First Offer - \$4,800.00	2 / each	\$9,600.00		Y				
Product Code:		Supplier Product (Code:						
Agency Notes:		Supplier Notes:							
SAC Services 🙀	First Offer - \$4,870.00	2 / each	\$9,740.00		Y				
Product Code:		Supplier Product (Code:						
Agency Notes:		Supplier Notes:							

MTZ Construction Inc., [Ad]	First Offer - \$5,000.00	2 / each	\$10,000.00	Υ	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Silver Star Construction Company	First Offer - \$7,500.00	2 / each	\$15,000.00	Y	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$7,523.46	2 / each	\$15,046.92	Y	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			

UPCSS-0001–01-32 BASE BID: 454-38 DESIGN 2-2 INLET CO	OMPLETE IN PLACE				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
SAC Services 👔	First Offer - \$4,975.00	2 / each	\$9,950.00		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Rudy Construction Co.	First Offer - \$5,000.00	2 / each	\$10,000.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
EMC SERVICES LLC	First Offer - \$5,000.00	2 / each	\$10,000.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
MTZ Construction Inc., [Ad]	First Offer - \$5,500.00	2 / each	\$11,000.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$8,265.58	2 / each	\$16,531.16		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Silver Star Construction Company	First Offer - \$8,600.00	2 / each	\$17,200.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		

UPCSS-0001–01-33 BASE BID: 454-45 DESIGN 2-3 INLET C	OMPLETE IN PLACE				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
SAC Services 👔	First Offer - \$5,480.00	2 / each	\$10,960.00		Y
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		
EMC SERVICES LLC	First Offer - \$5,800.00	2 / each	\$11,600.00		Y
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		
Rudy Construction Co.	First Offer - \$6,000.00	2 / each	\$12,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MTZ Construction Inc., [Ad]	First Offer - \$6,000.00	2 / each	\$12,000.00		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		
Silver Star Construction Company	First Offer - \$9,700.00	2 / each	\$19,400.00		Y
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$10,877.30	2 / each	\$21,754.60		Y
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		

UPCSS-0001–01-34 BASE BID: 454-50 RECESS DESIGN 2-0 INLET COMPLETE IN PLACE						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	

Rudy Construction Co.	First Offer - \$3,000.00	10 / each	\$30,000.00	Υ	
		Supplier Product Code: Supplier Notes:			
EMC SERVICES LLC	First Offer - \$3,550.00	10 / each	\$35,500.00	Y	
		Supplier Product Code: Supplier Notes:			
SAC Services 🙀	First Offer - \$3,910.00	10 / each	\$39,100.00	Υ	
Product Code: Agency Notes:	'	Supplier Product (Supplier Notes:	Code:	'	
MTZ Construction Inc., [Ad]	First Offer - \$4,500.00	10 / each	\$45,000.00	Y	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$6,647.99	10 / each	\$66,479.90	Y	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Silver Star Construction Company	First Offer - \$7,100.00	10 / each	\$71,000.00	Y	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		

UPCSS-0001-01-35 BASE BID: 454-51 RECESS DESIGN 2-1	INLET COMPLETE IN PLAC	Œ			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Rudy Construction Co.	First Offer - \$4,000.00	2 / each	\$8,000.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
EMC SERVICES LLC	First Offer - \$4,800.00	2 / each	\$9,600.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
SAC Services 🙀	First Offer - \$4,900.00	2 / each	\$9,800.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
MTZ Construction Inc., [Ad]	First Offer - \$5,500.00	2 / each	\$11,000.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$7,962.30	2 / each	\$15,924.60		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Silver Star Construction Company	First Offer - \$8,500.00	2 / each	\$17,000.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		

UPCSS-0001–01-36 BASE BID: 454-52 RECESS DESIGN 2-2	INLET COMPLETE IN PLAC	Œ			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Rudy Construction Co.	First Offer - \$5,000.00	2 / each	\$10,000.00		Υ
Product Code:		Supplier Product (Code:		
Agency Notes:		Supplier Notes:			
EMC SERVICES LLC	First Offer - \$5,000.00	2 / each	\$10,000.00		Υ
Product Code:		Supplier Product (Code:		
Agency Notes:		Supplier Notes:			
SAC Services 👔	First Offer - \$5,175.00	2 / each	\$10,350.00		Y
Product Code:		Supplier Product (Code:		
Agency Notes:		Supplier Notes:			
MTZ Construction Inc., [Ad]	First Offer - \$6,000.00	2 / each	\$12,000.00		Υ
Product Code:		Supplier Product (Code:		
Agency Notes:		Supplier Notes:			

Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$8,704.41	2 / each	\$17,408.82	Υ
Product Code:		Supplier Product (Code:	
Agency Notes:		Supplier Notes:		
Silver Star Construction Company	First Offer - \$9,600.00	2 / each	\$19,200.00	Υ
Product Code:		Supplier Product (Code:	
Agency Notes:		Supplier Notes:		

UPCSS-0001-01-37 BASE BID: 454-53 RECESS DESIGN	12-3	INLET COMPLETE IN PLAC	E			
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Silver Star Construction Company		First Offer - \$1,100.00	2 / each	\$2,200.00		Υ
Product Code:			Supplier Product	Code:		
Agency Notes:			Supplier Notes:			
SAC Services 🙀		First Offer - \$5,595.00	2 / each	\$11,190.00		Y
Product Code:			Supplier Product	Code:		
Agency Notes:			Supplier Notes:			
EMC SERVICES LLC		First Offer - \$5,800.00	2 / each	\$11,600.00		Υ
Product Code:			Supplier Product	Code:		
Agency Notes:			Supplier Notes:			
Rudy Construction Co.		First Offer - \$6,000.00	2 / each	\$12,000.00		Υ
Product Code:			Supplier Product	Code:		
Agency Notes:			Supplier Notes:			
MTZ Construction Inc., [Ad]		First Offer - \$6,750.00	2 / each	\$13,500.00		Υ
Product Code:			Supplier Product	Code:		
Agency Notes:			Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$12,090.05	2 / each	\$24,180.10		Y
Product Code:			Supplier Product	Code:		
Agency Notes:			Supplier Notes:			

UPCSS-0001-01-38 BASE BID: 454-88 STORM WATER CUR	В	OPENING				
Supplier		Unit Price	Qty/Unit	Total Price	e Attch.	Docs
SAC Services	T	First Offer - \$280.00	10 / each	\$2,800.00	1	Υ
Product Code:			Supplier Product C	Code:		
Agency Notes:			Supplier Notes:			
Rudy Construction Co.		First Offer - \$300.00	10 / each	\$3,000.00)	Y
Product Code:			Supplier Product C	Code:		
Agency Notes:			Supplier Notes:			
EMC SERVICES LLC		First Offer - \$300.00	10 / each	\$3,000.00		Υ
Product Code:			Supplier Product C	Code:		
Agency Notes:			Supplier Notes:			
MTZ Construction Inc., [Ad]	T	First Offer - \$350.00	10 / each	\$3,500.00	1	Y
Product Code:			Supplier Product C	Code:		
Agency Notes:			Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$626.08	10 / each	\$6,260.80		Υ
Product Code:			Supplier Product C	Code:		
Agency Notes:			Supplier Notes:			
Silver Star Construction Company		First Offer - \$800.00	10 / each	\$8,000.00		Y
Product Code:			Supplier Product C	Code:		
Agency Notes:			Supplier Notes:			

UPCSS-0001–01-39 BASE BID: 459-01 ADJUST MANHOLE TO GRADE							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
EMC SERVICES LLC	First Offer - \$600.00	10 / each	\$6,000.00		Υ		
Product Code:		Supplier Product (Code:				
Agency Notes:		Supplier Notes:					

SAC Services 👔	First Offer - \$610.00	10 / each	\$6,100.00	Υ
Product Code:		Supplier Product (Code:	
Agency Notes:		Supplier Notes:		
Rudy Construction Co.	First Offer - \$750.00	10 / each	\$7,500.00	Υ
Product Code:		Supplier Product (Code:	
Agency Notes:		Supplier Notes:		
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$815.06	10 / each	\$8,150.60	Υ
Product Code:		Supplier Product (Code:	
Agency Notes:		Supplier Notes:		
MTZ Construction Inc., [Ad]	First Offer - \$1,000.00	10 / each	\$10,000.00	Υ
Product Code:		Supplier Product (Code:	
Agency Notes:		Supplier Notes:		
Silver Star Construction Company	First Offer - \$1,600.00	10 / each	\$16,000.00	Υ
Product Code:		Supplier Product (Code:	
Agency Notes:		Supplier Notes:		

UPCSS-0001-01-40 BASE BID: 460-00 PROVIDE AND SET N	NEW MANHOLE RING AND	COVER			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
SAC Services	First Offer - \$650.00	10 / each	\$6,500.00		Y
Product Code:		Supplier Product	Code:		
Agency Notes:		Supplier Notes:			
EMC SERVICES LLC	First Offer - \$700.00	10 / each	\$7,000.00		Y
Product Code:		Supplier Product	Code:		
Agency Notes:		Supplier Notes:			
Rudy Construction Co.	First Offer - \$750.00	10 / each	\$7,500.00		Υ
Product Code:		Supplier Product	Code:		
Agency Notes:		Supplier Notes:			
MTZ Construction Inc., [Ad]	First Offer - \$750.00	10 / each	\$7,500.00		Υ
Product Code:		Supplier Product	Code:		
Agency Notes:		Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$903.87	10 / each	\$9,038.70		Υ
Product Code:		Supplier Product	Code:		
Agency Notes:		Supplier Notes:			
Silver Star Construction Company	First Offer - \$10,500.00	10 / each	\$105,000.00		Υ
Product Code:		Supplier Product	Code:		
Agency Notes:		Supplier Notes:			

UPCSS-0001-01-41 BASE BID: 511-14 WATER SERVICE LI	INES	SHORT (1 INCH) (W/ME	TER RELOCATE)			
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
EMC SERVICES LLC		First Offer - \$2,800.00	1 / each	\$2,800.00		Υ
			Supplier Product (Supplier Notes:	Code:		
MTZ Construction Inc., [Ad]		First Offer - \$2,800.00	1 / each	\$2,800.00		Υ
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$3,000.00	1 / each	\$3,000.00		Υ
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		
SAC Services 🙀		First Offer - \$3,100.00	1 / each	\$3,100.00		Υ
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		
Silver Star Construction Company		First Offer - \$3,200.00	1 / each	\$3,200.00		Υ
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		

Rudy Construction Co.	First Offer - \$3,500.00	1 / each	\$3,500.00	Y	
Product Code:		Supplier Product (Code:		
Agency Notes:		Supplier Notes:			

UPCSS-0001-01-42 BASE BID: 511-27 WATER METER A	DJUS	T TO GRADE				
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
EMC SERVICES LLC		First Offer - \$250.00	5 / each	\$1,250.00		Υ
Product Code:			Supplier Product C	Code:		
Agency Notes:			Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$250.00	5 / each	\$1,250.00		Y
Product Code:			Supplier Product C	Code:		
Agency Notes:			Supplier Notes:			
Rudy Construction Co.		First Offer - \$300.00	5 / each	\$1,500.00		Υ
Product Code:			Supplier Product C	Code:		
Agency Notes:			Supplier Notes:			
SAC Services 👔		First Offer - \$300.00	5 / each	\$1,500.00		Y
Product Code:			Supplier Product C	Code:		
Agency Notes:			Supplier Notes:			
MTZ Construction Inc., [Ad]		First Offer - \$500.00	5 / each	\$2,500.00		Υ
Product Code:			Supplier Product C	Code:		
Agency Notes:			Supplier Notes:			
Silver Star Construction Company		First Offer - \$800.00	5 / each	\$4,000.00		Υ
Product Code:			Supplier Product C	Code:		
Agency Notes:			Supplier Notes:			

UPCSS-0001-01-43 BASE BID: 516-02 REMOVE AND R	ELO	CATE FIRE HYDRANT					
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$5,500.00	1 / each	\$5,500.00		Υ	
Product Code:			Supplier Product	Code:			
Agency Notes:			Supplier Notes:				
SAC Services 👔		First Offer - \$7,100.00	1 / each	\$7,100.00		Y	
Product Code:			Supplier Product	Code:			
Agency Notes:			Supplier Notes:				
EMC SERVICES LLC		First Offer - \$8,000.00	1 / each	\$8,000.00		Υ	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
Rudy Construction Co.		First Offer - \$10,000.00	1 / each	\$10,000.00		Υ	
Product Code:			Supplier Product	Code:			
Agency Notes:			Supplier Notes:				
MTZ Construction Inc., [Ad]		First Offer - \$10,000.00	1 / each	\$10,000.00		Υ	
Product Code:			Supplier Product	Code:			
Agency Notes:			Supplier Notes:				
Silver Star Construction Company		First Offer - \$10,700.00	1 / each	\$10,700.00		Υ	
Product Code: Agency Notes:			Supplier Product Supplier Notes:	Code:			

UPCSS-0001–01-44 BASE BID: 520-03 VALVE BOX ADJUST TO GRADE								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
SAC Services	First Offer - \$200.00	10 / each	\$2,000.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
EMC SERVICES LLC	First Offer - \$250.00	10 / each	\$2,500.00		Υ			
Product Code:		Supplier Product (Code:					
Agency Notes:		Supplier Notes:						

Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$253.00	10 / each	\$2,530.00	Y	<i>!</i>
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	Code:		
Rudy Construction Co.		First Offer - \$300.00	10 / each	\$3,000.00	Y	<i>,</i>
			Supplier Product C Supplier Notes:	Code:		
MTZ Construction Inc., [Ad]		First Offer - \$500.00	10 / each	\$5,000.00	Υ	1
Product Code:			Supplier Product C	Code:		
Agency Notes:			Supplier Notes:			
Silver Star Construction Company		First Offer - \$800.00	10 / each	\$8,000.00	Y	1
Product Code:			Supplier Product C	ode:		
Agency Notes:			Supplier Notes:			

UPCSS-0001–01-45 BASE BID: 520-15 WATER VALVE BOX						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
SAC Services	First Offer - \$240.00	10 / each	\$2,400.00		Y	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:			
Rudy Construction Co.	First Offer - \$300.00	10 / each	\$3,000.00		Υ	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$330.00	10 / each	\$3,300.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
EMC SERVICES LLC	First Offer - \$350.00	10 / each	\$3,500.00		Y	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:			
MTZ Construction Inc., [Ad]	First Offer - \$550.00	10 / each	\$5,500.00		Υ	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:			
Silver Star Construction Company	First Offer - \$1,100.00	10 / each	\$11,000.00		Υ	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:	·		

UPCSS-0001–01-46 BASE BID: 520-16 WATER METER BOX	(TRAFFIC TYPE)				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Rudy Construction Co.	First Offer - \$400.00	20 / each	\$8,000.00		Υ
Product Code:		Supplier Product (Code:		
Agency Notes:		Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$412.50	20 / each	\$8,250.00		Y
Product Code:		Supplier Product (Code:		
Agency Notes:		Supplier Notes:			
SAC Services 👔	First Offer - \$430.00	20 / each	\$8,600.00		Y
Product Code:		Supplier Product (Code:		
Agency Notes:		Supplier Notes:			
EMC SERVICES LLC	First Offer - \$450.00	20 / each	\$9,000.00		Y
Product Code:		Supplier Product (Code:		
Agency Notes:		Supplier Notes:			
MTZ Construction Inc., [Ad]	First Offer - \$650.00	20 / each	\$13,000.00		Υ
Product Code:		Supplier Product (Code:		
Agency Notes:		Supplier Notes:			
Silver Star Construction Company	First Offer - \$1,300.00	20 / each	\$26,000.00		Y
Product Code:		Supplier Product (Code:		
Agency Notes:		Supplier Notes:			

UPCSS-0001-01-47 BASE BID: 713-00 3 INCH GALVANIZE	D	STEEL CONDUIT (INS	TALLED WITH ONE HO	DLE MALLIBLE STRA	APS)	
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Rudy Construction Co.		First Offer - \$85.00	100 / linear foot	\$8,500.00		Υ
Product Code:			Supplier Product Cod	de:		
Agency Notes:			Supplier Notes:			
EMC SERVICES LLC		First Offer - \$85.00	100 / linear foot	\$8,500.00		Y
Product Code:			Supplier Product Cod	de:		
Agency Notes:			Supplier Notes:			
MTZ Construction Inc., [Ad]		First Offer - \$87.55	100 / linear foot	\$8,755.00		Y
Product Code:			Supplier Product Cod	de:		
Agency Notes:			Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$89.25	100 / linear foot	\$8,925.00		Υ
Product Code:			Supplier Product Cod	de:		
Agency Notes:			Supplier Notes:			
SAC Services 👔		First Offer - \$91.00	100 / linear foot	\$9,100.00		Y
Product Code:			Supplier Product Cod	de:		
Agency Notes:			Supplier Notes:			
Silver Star Construction Company		First Offer - \$91.00	100 / linear foot	\$9,100.00		Y
Product Code:			Supplier Product Cod	de:		
Agency Notes:			Supplier Notes:			

UPCSS-0001-01-48 BASE BID: 713-08 2 INCH TRAFFIC SIGN	NAL CONDUIT (TRENC	HED)			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Rudy Construction Co.	First Offer - \$25.00	100 / linear foot	\$2,500.00		Υ
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:		
EMC SERVICES LLC	First Offer - \$25.00	100 / linear foot	\$2,500.00		Υ
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:		
MTZ Construction Inc., [Ad]	First Offer - \$25.75	100 / linear foot	\$2,575.00		Υ
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:		
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$26.25	100 / linear foot	\$2,625.00		Y
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:		
Silver Star Construction Company	First Offer - \$27.00	100 / linear foot	\$2,700.00		Υ
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:		
SAC Services 🙀	First Offer - \$27.50	100 / linear foot	\$2,750.00		Y
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:	·	

UPCSS-0001–01-49 BASE BID: 713-09 2 INCH TRAFFIC SIGNAL CONDUIT (BORED)									
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rudy Construction Co.		First Offer - \$35.00	100 / linear foot	\$3,500.00		Υ			
Product Code:			Supplier Product Cod	de:					
Agency Notes:			Supplier Notes:						
EMC SERVICES LLC		First Offer - \$35.00	100 / linear foot	\$3,500.00		Y			
Product Code:			Supplier Product Code:						
Agency Notes:			Supplier Notes:						
MTZ Construction Inc., [Ad]		First Offer - \$36.05	100 / linear foot	\$3,605.00		Y			
Product Code:			Supplier Product Cod	de:					
Agency Notes:			Supplier Notes:						

Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$36.75	100 / linear foot	\$3,675.00	Y
Product Code:		Supplier Product Cod	de:	
Agency Notes:		Supplier Notes:		
Silver Star Construction Company	First Offer - \$37.00	100 / linear foot	\$3,700.00	Υ
Product Code:		Supplier Product Cod	de:	
Agency Notes:		Supplier Notes:		
SAC Services 👔	First Offer - \$38.50	100 / linear foot	\$3,850.00	Y
Product Code:		Supplier Product Cod	de:	
Agency Notes:		Supplier Notes:		

UPCSS-0001–01-50 BASE BID: 713-10 3 INCH TRAFFIC SIG	NAL CONDUIT (TRENC	HED)				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Rudy Construction Co.	First Offer - \$28.00	100 / linear foot	\$2,800.00		Υ	
Product Code:		Supplier Product Cod	le:			
Agency Notes:		Supplier Notes:				
EMC SERVICES LLC	First Offer - \$28.00	100 / linear foot	\$2,800.00		Y	
Product Code:		Supplier Product Cod	le:			
Agency Notes:		Supplier Notes:				
MTZ Construction Inc., [Ad]	First Offer - \$28.84	100 / linear foot	\$2,884.00		Υ	
Product Code:	Supplier Product Code:					
Agency Notes:		Supplier Notes:				
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$29.40	100 / linear foot	\$2,940.00		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Silver Star Construction Company	First Offer - \$30.00	100 / linear foot	\$3,000.00		Υ	
Product Code:		Supplier Product Cod	le:			
Agency Notes:		Supplier Notes:				
SAC Services 🙀	First Offer - \$30.80	100 / linear foot	\$3,080.00		Υ	
Product Code:		Supplier Product Cod	le:			
Agency Notes:		Supplier Notes:				

UPCSS-0001–01-51 BASE BID: 713-11 3 INCH TRAFFIC SIG	NAL CONDUIT (BORED)			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Rudy Construction Co.	First Offer - \$50.00	100 / linear foot	\$5,000.00		Υ
Product Code:		Supplier Product Cod	le:		
Agency Notes:		Supplier Notes:			
EMC SERVICES LLC	First Offer - \$50.00	100 / linear foot	\$5,000.00		Υ
Product Code:		Supplier Product Cod	le:		
Agency Notes:		Supplier Notes:			
MTZ Construction Inc., [Ad]	First Offer - \$51.50	100 / linear foot	\$5,150.00		Υ
Product Code:		Supplier Product Cod	le:		
Agency Notes:		Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$52.50	100 / linear foot	\$5,250.00		Υ
Product Code:		Supplier Product Cod	le:		
Agency Notes:		Supplier Notes:			
Silver Star Construction Company	First Offer - \$53.00	100 / linear foot	\$5,300.00		Υ
Product Code:		Supplier Product Cod	le:		
Agency Notes:		Supplier Notes:			
SAC Services 🙀	First Offer - \$55.00	100 / linear foot	\$5,500.00		Y
Product Code:		Supplier Product Cod	le:		
Agency Notes:		Supplier Notes:			

UPCSS-0001–01-52 BASE BID: 714-01 TWO CONDUCTOR SHIELDED LOOP DETECTOR LEAD-IN CABLE					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs

Rudy Construction Co.		First Offer - \$5.00	100 / linear foot	\$500.00		Y	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
EMC SERVICES LLC		First Offer - \$5.00	100 / linear foot	\$500.00		Y	
Product Code:			Supplier Product Cod	e:			
Agency Notes:			Supplier Notes:				
MTZ Construction Inc., [Ad]		First Offer - \$5.15	100 / linear foot	\$515.00		Y	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$5.25	100 / linear foot	\$525.00		Y	
Product Code:			Supplier Product Cod	e:			
Agency Notes:			Supplier Notes:				
SAC Services 👔		First Offer - \$5.50	100 / linear foot	\$550.00		Y	
Product Code:			Supplier Product Cod	e:			
Agency Notes:			Supplier Notes:				
Silver Star Construction Company		First Offer - \$5.50	100 / linear foot	\$550.00		Υ	
Product Code:			Supplier Product Cod	e:			
Agency Notes:			Supplier Notes:				

UPCSS-0001-01-53 BASE BID: 714-02 LOOP DETECTOR WI	RE (AWG 14)(TYPE XH	IHW)			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Rudy Construction Co.	First Offer - \$6.00	1200 / linear foot	\$7,200.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
EMC SERVICES LLC	First Offer - \$6.00	1200 / linear foot	\$7,200.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MTZ Construction Inc., [Ad]	First Offer - \$6.18	1200 / linear foot	\$7,416.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$6.30	1200 / linear foot	\$7,560.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
SAC Services 🙀	First Offer - \$6.40	1200 / linear foot	\$7,680.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Silver Star Construction Company	First Offer - \$6.50	1200 / linear foot	\$7,800.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

UPCSS-0001-01-54 BASE BID: 714-04 5C CONDUCTOR TR	AFFIC SIGNAL ELECTI	RICAL CABLE			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Rudy Construction Co.	First Offer - \$7.00	2000 / linear foot	\$14,000.00		Y
Product Code:		Supplier Product Code	e:		
Agency Notes:		Supplier Notes:			
EMC SERVICES LLC	First Offer - \$7.00	2000 / linear foot	\$14,000.00		Y
Product Code:		Supplier Product Code	e:		
Agency Notes:		Supplier Notes:			
MTZ Construction Inc., [Ad]	First Offer - \$7.21	2000 / linear foot	\$14,420.00		Y
Product Code:		Supplier Product Code	e:		
Agency Notes:		Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$7.35	2000 / linear foot	\$14,700.00		Y
Product Code:		Supplier Product Code	e:		
Agency Notes:		Supplier Notes:			
	First Offer - \$7.40	2000 / linear foot	\$14,800.00		Υ

SAC Services 🙀				
Product Code:		Supplier Product Code	:	
Agency Notes:		Supplier Notes:		
Silver Star Construction Company	First Offer - \$7.50	2000 / linear foot	\$15,000.00	Υ
Product Code:		Supplier Product Code	:	
Agency Notes:		Supplier Notes:		

UPCSS-0001-01-55 BASE BID: 714-05 7C CONDUCTOR TRA	AFFIC SIGNAL ELECTR	ICAL CABLE			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Rudy Construction Co.	First Offer - \$8.00	500 / linear foot	\$4,000.00		Υ
Product Code:		Supplier Product Cod	e:		
Agency Notes:		Supplier Notes:			
EMC SERVICES LLC	First Offer - \$8.00	500 / linear foot	\$4,000.00		Υ
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:		
MTZ Construction Inc., [Ad]	First Offer - \$8.24	500 / linear foot	\$4,120.00		Υ
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:		
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$8.40	500 / linear foot	\$4,200.00		Υ
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:		
SAC Services	First Offer - \$8.50	500 / linear foot	\$4,250.00		Υ
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:		
Silver Star Construction Company	First Offer - \$8.50	500 / linear foot	\$4,250.00		Υ
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:		

UPCSS-0001-01-56 BASE BID: 714-06 10C CONDUCTOR TO	ΓRΑΙ	FFIC SIGNAL ELECTR	ICAL CABLE			
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Rudy Construction Co.		First Offer - \$9.00	100 / linear foot	\$900.00		Υ
Product Code: Agency Notes:			Supplier Product Cod Supplier Notes:	le:		
EMC SERVICES LLC		First Offer - \$9.00	100 / linear foot	\$900.00		Υ
Product Code: Agency Notes:			Supplier Product Cod Supplier Notes:	le:		
MTZ Construction Inc., [Ad]		First Offer - \$9.27	100 / linear foot	\$927.00		Υ
Product Code: Agency Notes:			Supplier Product Cod Supplier Notes:	le:		
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$9.45	100 / linear foot	\$945.00		Υ
Product Code: Agency Notes:			Supplier Product Cod Supplier Notes:	le:		
SAC Services 🙀		First Offer - \$9.90	100 / linear foot	\$990.00		Y
Product Code: Agency Notes:			Supplier Product Cod Supplier Notes:	le:		
Silver Star Construction Company		First Offer - \$10.00	100 / linear foot	\$1,000.00		Υ
Product Code: Agency Notes:			Supplier Product Cod Supplier Notes:	le:		

UPCSS-0001–01-57 BASE BID: 714-07 15C CONDUCTOR TRAFFIC SIGNAL ELECTRICAL CABLE							
Supplier	Unit	t Price Qty/Unit	Total Price	Attch.	Docs		
Rudy Construction Co.	First Offer - \$	10.00 100 / linear foot	\$1,000.00		Υ		
Product Code:		Supplier Product (Code:				
Agency Notes:		Supplier Notes:					
Agency Notes:	1 1	Supplier Notes:	<u> </u>		7		

EMC SERVICES LLC	First Offer - \$10.00	100 / linear foot	\$1,000.00	Y
Product Code:		Supplier Product Cod	le:	
Agency Notes:		Supplier Notes:		
MTZ Construction Inc., [Ad]	First Offer - \$10.30	100 / linear foot	\$1,030.00	Υ
Product Code:		Supplier Product Cod	le:	
Agency Notes:		Supplier Notes:		
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$10.50	100 / linear foot	\$1,050.00	Υ
Product Code:		Supplier Product Cod	le:	
Agency Notes:		Supplier Notes:		
SAC Services 🙀	First Offer - \$11.00	100 / linear foot	\$1,100.00	Y
Product Code:		Supplier Product Cod	le:	
Agency Notes:		Supplier Notes:		
Silver Star Construction Company	First Offer - \$11.00	100 / linear foot	\$1,100.00	Υ
Product Code:		Supplier Product Cod	le:	
Agency Notes:		Supplier Notes:		

UPCSS-0001–01-58 BASE BID: 714-08 18C CONDUCTOR T	'R/	AFFIC SIGNAL ELECTR	ICAL CABLE			
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Rudy Construction Co.		First Offer - \$11.00	100 / linear foot	\$1,100.00		Υ
Product Code:			Supplier Product Coc	le:		
Agency Notes:			Supplier Notes:	I	I	
EMC SERVICES LLC		First Offer - \$11.00	100 / linear foot	\$1,100.00		Υ
Product Code: Agency Notes:			Supplier Product Coc Supplier Notes:	le:		
MTZ Construction Inc., [Ad]		First Offer - \$11.33	100 / linear foot	\$1,133.00		Υ
Product Code: Agency Notes:			Supplier Product Coo Supplier Notes:	le:		
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$11.55	100 / linear foot	\$1,155.00		Y
Product Code: Agency Notes:			Supplier Product Coc Supplier Notes:	le:		
SAC Services		First Offer - \$12.00	100 / linear foot	\$1,200.00		Y
Product Code: Agency Notes:			Supplier Product Coo Supplier Notes:	le:		
Silver Star Construction Company		First Offer - \$12.00	100 / linear foot	\$1,200.00		Y
Product Code: Agency Notes:			Supplier Product Coc Supplier Notes:	le:		

UPCSS-0001–01-59 BASE BID: 714-09 21C CONDUCTOR T	RAFFIC SIGNAL ELECTR	ICAL CABLE			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Rudy Construction Co.	First Offer - \$12.00	100 / linear foot	\$1,200.00		Y
Product Code: Agency Notes:		Supplier Product Coc Supplier Notes:	le:		
SAC Services 👔	First Offer - \$12.00	100 / linear foot	\$1,200.00		Y
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	le:		
EMC SERVICES LLC	First Offer - \$12.00	100 / linear foot	\$1,200.00		Υ
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	le:		
MTZ Construction Inc., [Ad]	First Offer - \$12.36	100 / linear foot	\$1,236.00		Υ
Product Code: Agency Notes:		Supplier Product Coc Supplier Notes:	le:		
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$12.60	100 / linear foot	\$1,260.00		Υ
Product Code: Agency Notes:		Supplier Product Coc Supplier Notes:	le:		

Silver Star Construction Company	First Offer - \$13.00	100 / linear foot	\$1,300.00	Υ
Product Code:		Supplier Product Cod	le:	
Agency Notes:		Supplier Notes:		

UPCSS-0001-01-60 BASE BID: 714-10 (1 CONDUCTOR)(AV	VG NO. 6) ELECTRICAL	CONDUCTOR			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Rudy Construction Co.	First Offer - \$3.00	500 / linear foot	\$1,500.00		Υ
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:		
EMC SERVICES LLC	First Offer - \$3.00	500 / linear foot	\$1,500.00		Y
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:		
MTZ Construction Inc., [Ad]	First Offer - \$3.09	500 / linear foot	\$1,545.00		Υ
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:		
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$3.15	500 / linear foot	\$1,575.00		Y
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:		
SAC Services 🙀	First Offer - \$3.30	500 / linear foot	\$1,650.00		Υ
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:		
Silver Star Construction Company	First Offer - \$4.00	500 / linear foot	\$2,000.00		Υ
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:		

UPCSS-0001-01-61 BASE BID: 714-11 (1 CONDUCTOR)(AV	VG	NO. 10) ELECTRICA	L CONDUCTOR			
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Rudy Construction Co.		First Offer - \$3.00	500 / linear foot	\$1,500.00		Υ
Product Code:			Supplier Product Cod	e:		
Agency Notes:			Supplier Notes:			
EMC SERVICES LLC		First Offer - \$3.00	500 / linear foot	\$1,500.00		Y
Product Code:			Supplier Product Cod	e:		
Agency Notes:			Supplier Notes:			
MTZ Construction Inc., [Ad]		First Offer - \$3.09	500 / linear foot	\$1,545.00		Y
Product Code:			Supplier Product Cod	e:		
Agency Notes:			Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$3.15	500 / linear foot	\$1,575.00		Y
Product Code:			Supplier Product Cod	e:		
Agency Notes:			Supplier Notes:			
SAC Services 👔		First Offer - \$3.30	500 / linear foot	\$1,650.00		Y
Product Code:			Supplier Product Cod	e:		
Agency Notes:			Supplier Notes:			
Silver Star Construction Company		First Offer - \$3.50	500 / linear foot	\$1,750.00		Y
Product Code:			Supplier Product Cod	e:		
Agency Notes:			Supplier Notes:			

UPCSS-0001–01-62 BASE BID: 717-03 PEDESTRIAN SIGNAL HEAD (1 WAY 2 SEC.ADJ SIG.HD. (S-20))							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Rudy Construction Co.	First Offer - \$925.00	8 / each	\$7,400.00		Y		
Product Code:		Supplier Product (Code:				
Agency Notes:		Supplier Notes:					
EMC SERVICES LLC	First Offer - \$925.00	8 / each	\$7,400.00		Y		
Product Code:		Supplier Product (Code:				
Agency Notes:		Supplier Notes:					

MTZ Construction Inc., [Ad]	First Offer - \$952.75	8 / each	\$7,622.00	Υ
Product Code:		Supplier Product (Code:	
Agency Notes:		Supplier Notes:		
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$971.25	8 / each	\$7,770.00	Υ
Product Code:		Supplier Product (Code:	
Agency Notes:		Supplier Notes:		
Silver Star Construction Company	First Offer - \$990.00	8 / each	\$7,920.00	Υ
Product Code:		Supplier Product (Code:	
Agency Notes:		Supplier Notes:		
SAC Services 👔	First Offer - \$1,015.50	8 / each	\$8,124.00	Y
Product Code:		Supplier Product (Code:	
Agency Notes:		Supplier Notes:		

UPCSS-0001–01-63 BASE BID: 722-00 PEDESTRIAN PUSH E	BUTTON AND SIGN				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
SAC Services	First Offer - \$15.00	8 / each	\$120.00		Y
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
EMC SERVICES LLC	First Offer - \$1,410.00	8 / each	\$11,280.00		Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:		
Rudy Construction Co.	First Offer - \$1,450.00	8 / each	\$11,600.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MTZ Construction Inc., [Ad]	First Offer - \$1,452.30	8 / each	\$11,618.40		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:		
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$1,480.50	8 / each	\$11,844.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:		
Silver Star Construction Company	First Offer - \$1,500.00	8 / each	\$12,000.00		Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:	·	

UPCSS-0001–01-64 BASE BID: 722-03 PEDESTRIAN PUSH BUTTON- CENTRAL CONTROL UNIT								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
EMC SERVICES LLC	First Offer - \$4,980.00	2 / each	\$9,960.00		Υ			
		Supplier Product Code: Supplier Notes:						
Rudy Construction Co.	First Offer - \$5,000.00	2 / each	\$10,000.00		Υ			
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:					
MTZ Construction Inc., [Ad]	First Offer - \$5,129.40	2 / each	\$10,258.80		Υ			
		Supplier Product Code: Supplier Notes:						
SAC Services 👔	First Offer - \$5,178.00	2 / each	\$10,356.00		Υ			
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:					
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$5,229.00	2 / each	\$10,458.00		Υ			
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:		Code:					
Silver Star Construction Company	First Offer - \$5,300.00	2 / each	\$10,600.00		Υ			
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:					

UPCSS-0001–01-65 BASE BID: 724-67 PEDESTAL POLE W/5 FOOT MOUNTING HEIGHT							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Rudy Construction Co.	First Offer - \$1,500.00	8 / each	\$12,000.00		Υ		
Product Code:		Supplier Product (Code:				
Agency Notes:		Supplier Notes:					
EMC SERVICES LLC	First Offer - \$1,500.00	8 / each	\$12,000.00		Υ		
Product Code:		Supplier Product (Code:				
Agency Notes:		Supplier Notes:					
MTZ Construction Inc., [Ad]	First Offer - \$1,545.00	8 / each	\$12,360.00		Y		
Product Code:		Supplier Product (Code:				
Agency Notes:		Supplier Notes:					
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$1,575.00	8 / each	\$12,600.00		Y		
Product Code:		Supplier Product (Code:				
Agency Notes:		Supplier Notes:					
SAC Services 👔	First Offer - \$1,600.00	8 / each	\$12,800.00		Y		
Product Code:		Supplier Product (Code:				
Agency Notes:		Supplier Notes:					
Silver Star Construction Company	First Offer - \$1,600.00	8 / each	\$12,800.00		Υ		
Product Code:		Supplier Product (Code:				
Agency Notes:		Supplier Notes:					

UPCSS-0001–01-66 BASE BID: 724-68 PEDESTAL POLE W/10 FOOT MOUNTING HEIGHT							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Rudy Construction Co.	First Offer - \$1,700.00	8 / each	\$13,600.00		Υ		
		Supplier Product Code: Supplier Notes:					
EMC SERVICES LLC	First Offer - \$1,700.00	8 / each	\$13,600.00		Y		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
MTZ Construction Inc., [Ad]	First Offer - \$1,751.00	8 / each	\$14,008.00		Υ		
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:				
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$1,785.00	8 / each	\$14,280.00		Υ		
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:				
SAC Services	First Offer - \$1,800.00	8 / each	\$14,400.00		Υ		
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:				
Silver Star Construction Company	First Offer - \$1,800.00	8 / each	\$14,400.00		Υ		
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:				

UPCSS-0001-01-67 BASE BID: 726-00 PULL BOX TYPE I					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Rudy Construction Co.	First Offer - \$1,800.00	2 / each	\$3,600.00		Y
Product Code:		Supplier Product	Code:		
Agency Notes:		Supplier Notes:			
EMC SERVICES LLC	First Offer - \$1,800.00	2 / each	\$3,600.00		Y
Product Code:		Supplier Product	Code:		
Agency Notes:		Supplier Notes:			
MTZ Construction Inc., [Ad]	First Offer - \$1,854.00	2 / each	\$3,708.00		Y
Product Code:		Supplier Product	Code:		
Agency Notes:		Supplier Notes:			

Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$1,890.00	2 / each	\$3,780.00	1	Υ
Product Code:		Supplier Product (Code:		
Agency Notes:		Supplier Notes:			
SAC Services	First Offer - \$1,900.00	2 / each	\$3,800.00	١	Y
Product Code:		Supplier Product (Code:		
Agency Notes:		Supplier Notes:			
Silver Star Construction Company	First Offer - \$1,900.00	2 / each	\$3,800.00	١	Υ
Product Code:		Supplier Product (Code:		
Agency Notes:		Supplier Notes:			

UPCSS-0001-01-68 BASE BID: 726-01 PULL BOX TYPE II					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Rudy Construction Co.	First Offer - \$2,400.00	2 / each	\$4,800.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
EMC SERVICES LLC	First Offer - \$2,400.00	2 / each	\$4,800.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
MTZ Construction Inc., [Ad]	First Offer - \$2,472.00	2 / each	\$4,944.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$2,520.00	2 / each	\$5,040.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
SAC Services 🙀	First Offer - \$2,600.00	2 / each	\$5,200.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Silver Star Construction Company	First Offer - \$2,600.00	2 / each	\$5,200.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		

UPCSS-0001–01-69 BASE BID: 726-04 PULL BOX ADJUSTMENT							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Rudy Construction Co.	First Offer - \$1,500.00	2 / each	\$3,000.00		Υ		
Product Code:		Supplier Product 0	Code:				
Agency Notes:		Supplier Notes:					
EMC SERVICES LLC	First Offer - \$1,500.00	2 / each	\$3,000.00		Y		
Product Code:		Supplier Product 0	Code:				
Agency Notes:		Supplier Notes:					
MTZ Construction Inc., [Ad]	First Offer - \$1,545.00	2 / each	\$3,090.00		Y		
Product Code:		Supplier Product 0	Code:				
Agency Notes:		Supplier Notes:					
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$1,575.00	2 / each	\$3,150.00		Υ		
Product Code:		Supplier Product 0	Code:				
Agency Notes:		Supplier Notes:					
Silver Star Construction Company	First Offer - \$1,600.00	2 / each	\$3,200.00		Υ		
Product Code:		Supplier Product 0	Code:				
Agency Notes:		Supplier Notes:					
SAC Services 👔	First Offer - \$1,650.00	2 / each	\$3,300.00		Y		
Product Code:		Supplier Product 0	Code:				
Agency Notes:		Supplier Notes:					

UPCSS-0001–01-70 BASE BID: 729-09 INSTALL AND REMOVE PROJECT SIGN					
Unit Price	Qty/Unit	Total Price	Attch.	Docs	
_	,	Unit Price Qty/Unit			

Agency Notes:		Supplier Notes:		
Product Code:		Supplier Product (Code:	
SAC Services 🙀	First Offer - \$1,375.00	4 / each	\$5,500.00	Y
Agency Notes:		Supplier Notes:		
Product Code:		Supplier Product 0	Code:	
MTZ Construction Inc., [Ad]	First Offer - \$1,287.50	4 / each	\$5,150.00	Y
Agency Notes:		Supplier Notes:		
Product Code:		Supplier Product (Code:	
Rudy Construction Co.	First Offer - \$500.00	4 / each	\$2,000.00	Y
Agency Notes:		Supplier Notes:		
Product Code:		Supplier Product C	Code:	
Silver Star Construction Company	First Offer - \$480.00	4 / each	\$1,920.00	Y
Agency Notes:		Supplier Notes:		
Product Code:	•	Supplier Product 0	Code:	
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$472.50	4 / each	\$1,890.00	Y
Agency Notes:		Supplier Notes:		
Product Code:		Supplier Product (Code:	
EMC SERVICES LLC	First Offer - \$450.00	4 / each	\$1,800.00	Υ

UPCSS-0001-01-71 BASE BID: 729-10 REMOVE AND RE	ELOCAT	E SIGN				
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Silver Star Construction Company		First Offer - \$190.00	5 / each	\$950.00		Υ
Product Code:			Supplier Product C	Code:		
Agency Notes:			Supplier Notes:			
Rudy Construction Co.		First Offer - \$200.00	5 / each	\$1,000.00		Y
Product Code:			Supplier Product C	Code:		
Agency Notes:			Supplier Notes:			
EMC SERVICES LLC		First Offer - \$300.00	5 / each	\$1,500.00		Υ
Product Code:			Supplier Product C	Code:		
Agency Notes:			Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$327.68	5 / each	\$1,638.40		Y
Product Code:			Supplier Product C	Code:		
Agency Notes:			Supplier Notes:			
SAC Services 👔		First Offer - \$850.00	5 / each	\$4,250.00		Y
Product Code:			Supplier Product C	Code:		
Agency Notes:			Supplier Notes:			
MTZ Construction Inc., [Ad]		First Offer - \$875.50	5 / each	\$4,377.50		Y
Product Code:			Supplier Product C	Code:		
Agency Notes:			Supplier Notes:			

UPCSS-0001-01-72 BASE BID: 735-00 TRAFFIC STRIPE (4 I	NCH WIDE)				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$0.74	15000 / linear foot	\$11,100.00		Y
Product Code:		Supplier Product Code			
Agency Notes:		Supplier Notes:			
Rudy Construction Co.	First Offer - \$0.85	15000 / linear foot	\$12,750.00		Y
Product Code:		Supplier Product Code	}		
Agency Notes:		Supplier Notes:			
Silver Star Construction Company	First Offer - \$1.30	15000 / linear foot	\$19,500.00		Y
Product Code:		Supplier Product Code			
Agency Notes:		Supplier Notes:			
EMC SERVICES LLC	First Offer - \$2.50	15000 / linear foot	\$37,500.00		Y
Product Code:		Supplier Product Code	}		
Agency Notes:		Supplier Notes:			
MTZ Construction Inc., [Ad]	First Offer - \$2.50	15000 / linear foot	\$37,500.00		Υ

Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
SAC Services		First Offer - \$2.75	15000 / linear foot	\$41,250.00		Y	
Product Code:			Supplier Product Code:	:			
Agency Notes:			Supplier Notes:				

UPCSS-0001-01-73 BASE BID: 735-01 TRAFFIC STRIPE (ARF	ROWS) (SINGLE)				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$68.25	20 / each	\$1,365.00		Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
Silver Star Construction Company	First Offer - \$70.00	20 / each	\$1,400.00		Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
Rudy Construction Co.	First Offer - \$100.00	20 / each	\$2,000.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
EMC SERVICES LLC	First Offer - \$300.00	20 / each	\$6,000.00		Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
MTZ Construction Inc., [Ad]	First Offer - \$309.00	20 / each	\$6,180.00		Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
SAC Services 🙀	First Offer - \$325.00	20 / each	\$6,500.00		Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		

UPCSS-0001–01-74 BASE BID: 735-06 TRAFFIC STRIPE (PLA	ASTIC) (SYMBOLS) (SHARF	ROW)				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
EMC SERVICES LLC	First Offer - \$500.00	10 / each	\$5,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
MTZ Construction Inc., [Ad]	First Offer - \$515.00	10 / each	\$5,150.00		Y	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:			
SAC Services	First Offer - \$540.00	10 / each	\$5,400.00		Y	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:			
Rudy Construction Co.	First Offer - \$1,300.00	10 / each	\$13,000.00		Υ	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$1,365.00	10 / each	\$13,650.00		Υ	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:			
Silver Star Construction Company	First Offer - \$1,400.00	10 / each	\$14,000.00		Y	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:			

UPCSS-0001-01-75 BASE BID: 735-07 TRAFFIC STRIPE (8 INCH WIDE)								
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs		
EMC SERVICES LLC		First Offer - \$5.00	500 / linear foot	\$2,500.00		Υ		
Product Code:			Supplier Product Code:					
Agency Notes:			Supplier Notes:					
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$5.25	500 / linear foot	\$2,625.00		Y		

Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:	
MTZ Construction Inc., [Ad]	First Offer - \$5.25	500 / linear foot	\$2,625.00	Υ
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:			
Silver Star Construction Company	First Offer - \$5.30	500 / linear foot	\$2,650.00	Υ
Product Code:	Supplier Product Code:			
Agency Notes:		Supplier Notes:		
SAC Services	First Offer - \$5.40	500 / linear foot	\$2,700.00	Y
Product Code:		Supplier Product Cod	le:	
Agency Notes:		Supplier Notes:		
Rudy Construction Co.	First Offer - \$5.50	500 / linear foot	\$2,750.00	Υ
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:	

UPCSS-0001–01-76 BASE BID: 735-08 TRAFFIC STRIPE (12	IN	ICH WIDE)				
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$7.35	500 / linear foot	\$3,675.00		Y
Product Code:			Supplier Product Cod	e:		
Agency Notes:			Supplier Notes:			
Rudy Construction Co.		First Offer - \$7.50	500 / linear foot	\$3,750.00		Y
Product Code:			Supplier Product Cod	e:		
Agency Notes:			Supplier Notes:			
EMC SERVICES LLC		First Offer - \$7.50	500 / linear foot	\$3,750.00		Y
Product Code:			Supplier Product Cod	e:		
Agency Notes:			Supplier Notes:			
Silver Star Construction Company		First Offer - \$7.50	500 / linear foot	\$3,750.00		Y
Product Code:			Supplier Product Cod	e:		
Agency Notes:			Supplier Notes:			
MTZ Construction Inc., [Ad]		First Offer - \$7.75	500 / linear foot	\$3,875.00		Y
Product Code:			Supplier Product Cod	e:		
Agency Notes:			Supplier Notes:			
SAC Services 🙀		First Offer - \$7.80	500 / linear foot	\$3,900.00		Y
Product Code:			Supplier Product Cod	e:		
Agency Notes:			Supplier Notes:			

UPCSS-0001-01-77 BASE BID: 735-09 TRAFFIC STRIPE (24	4 IN	NCH WIDE)				
Supplier	Т	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Rudy Construction Co.	П	First Offer - \$18.50	800 / linear foot	\$14,800.00		Υ
Product Code:			Supplier Product Cod	le:		
Agency Notes:			Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$18.90	800 / linear foot	\$15,120.00		Υ
Product Code:			Supplier Product Cod	le:		
Agency Notes:			Supplier Notes:			
Silver Star Construction Company		First Offer - \$19.00	800 / linear foot	\$15,200.00		Υ
Product Code:			Supplier Product Cod	le:		
Agency Notes:			Supplier Notes:			
EMC SERVICES LLC	П	First Offer - \$25.00	800 / linear foot	\$20,000.00		Υ
Product Code:			Supplier Product Cod	le:		
Agency Notes:			Supplier Notes:			
MTZ Construction Inc., [Ad]	П	First Offer - \$25.75	800 / linear foot	\$20,600.00		Υ
Product Code:			Supplier Product Cod	le:		
Agency Notes:			Supplier Notes:			
SAC Services 👔		First Offer - \$27.00	800 / linear foot	\$21,600.00		Y

Product Code:
Agency Notes:

Supplier Product Code:
Supplier Notes:

UPCSS-0001-01-78 BASE BID: 735-10 TRAFFIC STRIPE (4	(4 INCI	H WIDE)(SHADDOV	V STRIPING)			
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$2.10	1000 / linear foot	\$2,100.00		Y
			Supplier Product Code Supplier Notes:	:		
Silver Star Construction Company		First Offer - \$2.10	1000 / linear foot	\$2,100.00		Y
Product Code: Agency Notes:			Supplier Product Code Supplier Notes:	:		
Rudy Construction Co.		First Offer - \$2.20	1000 / linear foot	\$2,200.00		Y
Product Code: Agency Notes:			Supplier Product Code Supplier Notes:	:		
EMC SERVICES LLC		First Offer - \$3.50	1000 / linear foot	\$3,500.00		Y
Product Code: Agency Notes:			Supplier Product Code Supplier Notes:	:		
MTZ Construction Inc., [Ad]		First Offer - \$3.65	1000 / linear foot	\$3,650.00		Y
Product Code: Agency Notes:			Supplier Product Code Supplier Notes:	:		
SAC Services 👔		First Offer - \$3.85	1000 / linear foot	\$3,850.00		Y
Product Code: Agency Notes:			Supplier Product Code Supplier Notes:	:		

UPCSS-0001-01-79 BASE BID: 735-11 TRAFFIC STRIPE (PLA	STIC) (SYMBOLS) (RR TRA	ACKS)			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$682.50	6 / each	\$4,095.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Rudy Construction Co.	First Offer - \$700.00	6 / each	\$4,200.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Silver Star Construction Company	First Offer - \$700.00	6 / each	\$4,200.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
EMC SERVICES LLC	First Offer - \$2,200.00	6 / each	\$13,200.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
MTZ Construction Inc., [Ad]	First Offer - \$2,266.00	6 / each	\$13,596.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
SAC Services	First Offer - \$2,300.00	6 / each	\$13,800.00		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:	·	

UPCSS-0001–01-80 BASE BID: 735-12 TRAFFIC STRIPE (PLASTIC) (6 INCH WIDE)									
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs			
EMC SERVICES LLC		First Offer - \$2.65	500 / linear foot	\$1,325.00		Y			
Product Code:			Supplier Product Code:						
Agency Notes:			Supplier Notes:						
MTZ Construction Inc., [Ad]		First Offer - \$2.75	500 / linear foot	\$1,375.00		Y			
Product Code:			Supplier Product Cod	le:					
Agency Notes:			Supplier Notes:						
SAC Services 🙀		First Offer - \$2.85	500 / linear foot	\$1,425.00		Y			

		Supplier Product Cod	e:		
		Supplier Notes:			
	First Offer - \$5.25	500 / linear foot	\$2,625.00		Υ
Product Code:		Supplier Product Code:			
		Supplier Notes:			
	First Offer - \$5.30	500 / linear foot	\$2,650.00		Υ
		Supplier Product Code:			
		Supplier Notes:			
	First Offer - \$5.50	500 / linear foot	\$2,750.00		Υ
Product Code:		Supplier Product Code:			
		Supplier Notes:			
		First Offer - \$5.30	Supplier Notes: First Offer - \$5.25	First Offer - \$5.25 500 / linear foot \$2,625.00 Supplier Product Code: Supplier Notes: First Offer - \$5.30 500 / linear foot \$2,650.00 Supplier Product Code: Supplier Notes: First Offer - \$5.50 500 / linear foot \$2,750.00 Supplier Product Code:	Supplier Notes: First Offer - \$5.25

UPCSS-0001–01-81 BASE BID: 735-13 TRAFFIC STRIPE (PLASTIC) (6 INCH WIDE SHADDOW STRIPE)									
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs			
EMC SERVICES LLC		First Offer - \$3.85	500 / linear foot	\$1,925.00		Υ			
Product Code:			Supplier Product Cod	le:					
Agency Notes:			Supplier Notes:						
MTZ Construction Inc., [Ad]		First Offer - \$4.00	500 / linear foot	\$2,000.00		Υ			
Product Code:		Supplier Product Cod	le:						
Agency Notes:			Supplier Notes:						
SAC Services 🙀		First Offer - \$4.10	500 / linear foot	\$2,050.00		Y			
Product Code:			Supplier Product Code:						
Agency Notes:			Supplier Notes:						
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$5.25	500 / linear foot	\$2,625.00		Υ			
Product Code:			Supplier Product Code:						
Agency Notes:			Supplier Notes:						
Rudy Construction Co.		First Offer - \$5.50	500 / linear foot	\$2,750.00		Υ			
Product Code:			Supplier Product Code:						
Agency Notes:			Supplier Notes:						
Silver Star Construction Company		First Offer - \$5.50	500 / linear foot	\$2,750.00		Υ			
Product Code:			Supplier Product Cod	le:					
		Supplier Notes:							

UPCSS-0001–01-82 BASE BID: 738-08 REMOVE TRAFFIC MARKING (4 INCH WIDE STRIPE)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
EMC SERVICES LLC	First Offer - \$2.75	1000 / linear foot	\$2,750.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
MTZ Construction Inc., [Ad]	First Offer - \$2.85	1000 / linear foot	\$2,850.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
SAC Services 👔	First Offer - \$3.00	1000 / linear foot	\$3,000.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$4.20	1000 / linear foot	\$4,200.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Rudy Construction Co.	First Offer - \$4.50	1000 / linear foot	\$4,500.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Silver Star Construction Company	First Offer - \$4.50	1000 / linear foot	\$4,500.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							

UPCSS-0001-01-83 BASE BID: 738-10 REMOVE WORDS A	ND SYMBOLS				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
EMC SERVICES LLC	First Offer - \$125.00	5 / each	\$625.00		Υ
Product Code:		Supplier Product C	Code:		
Agency Notes:		Supplier Notes:			
MTZ Construction Inc., [Ad]	First Offer - \$128.75	5 / each	\$643.75		Y
		Supplier Product C Supplier Notes:	ode:		
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$157.50	5 / each	\$787.50		Υ
		Supplier Product Code: Supplier Notes:			
Silver Star Construction Company	First Offer - \$160.00	5 / each	\$800.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Rudy Construction Co.	First Offer - \$200.00	5 / each	\$1,000.00		Υ
Product Code: Agency Notes:			ode:		
SAC Services 👔	First Offer - \$200.00	5 / each	\$1,000.00		Y
Product Code: Agency Notes:	•	Supplier Product C Supplier Notes:	iode:		

UPCSS-0001–01-84 BASE BID: 745-01 RADAR DETECTION SYSTEM (ADVANCE SENSORS)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
EMC SERVICES LLC	First Offer - \$8,940.00	4 / each	\$35,760.00		Y			
Product Code:		Supplier Product 0	Code:					
Agency Notes:		Supplier Notes:						
Rudy Construction Co.	First Offer - \$9,000.00	4 / each	\$36,000.00		Y			
Product Code:		Supplier Product 0	Code:					
Agency Notes:		Supplier Notes:						
SAC Services 🙀	First Offer - \$9,200.00	4 / each	\$36,800.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
MTZ Construction Inc., [Ad]	First Offer - \$9,200.00	4 / each	\$36,800.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$9,387.00	4 / each	\$37,548.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Silver Star Construction Company	First Offer - \$9,500.00	4 / each	\$38,000.00		Y			
Product Code:		Supplier Product 0	Code:					
Agency Notes:		Supplier Notes:						

UPCSS-0001–01-85 BASE BID: 745-02 RADAR DETECTION SYSTEM (PRESENCE SENSORS)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
EMC SERVICES LLC	First Offer - \$8,750.00	4 / each	\$35,000.00		Y			
Product Code:		Supplier Product (Code:					
Agency Notes:		Supplier Notes:						
Rudy Construction Co.	First Offer - \$8,800.00	4 / each	\$35,200.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
MTZ Construction Inc., [Ad]	First Offer - \$9,000.00	4 / each	\$36,000.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
SAC Services	First Offer - \$9,050.00	4 / each	\$36,200.00		Υ			

		Supplier Product Code: Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$9,187.50	4 / each	\$36,750.00	Y	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Silver Star Construction Company	First Offer - \$9,300.00	4 / each	\$37,200.00	Υ	
Product Code:		Supplier Product (Code:		
Agency Notes:		Supplier Notes:			

UPCSS-0001–01-86 BASE BID: 745-04 RADAR CABINET INTERFACE (MODEL 656 6 SENSORS)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
EMC SERVICES LLC	First Offer - \$8,260.00	4 / each	\$33,040.00		Υ			
		Supplier Product (Supplier Notes:	Code:					
Rudy Construction Co.	First Offer - \$8,300.00	4 / each	\$33,200.00		Υ			
		Supplier Product (Supplier Notes:	Code:					
SAC Services 🙀	First Offer - \$8,395.00	4 / each	\$33,580.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
MTZ Construction Inc., [Ad]	First Offer - \$8,500.00	4 / each	\$34,000.00		Υ			
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:					
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$8,673.00	4 / each	\$34,692.00		Υ			
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:					
Silver Star Construction Company	First Offer - \$8,800.00	4 / each	\$35,200.00		Υ			
		Supplier Product (Supplier Notes:	Code:					

UPCSS-0001-01-87 BASE BID: 745-05 RADAR DETECTOR	C	ABLE				
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Rudy Construction Co.		First Offer - \$5.00	4000 / linear foot	\$20,000.00		Υ
Product Code:			Supplier Product Code	:		
Agency Notes:			Supplier Notes:			
EMC SERVICES LLC		First Offer - \$5.00	4000 / linear foot	\$20,000.00		Y
Product Code:		Supplier Product Code	:			
Agency Notes:			Supplier Notes:			
MTZ Construction Inc., [Ad]		First Offer - \$5.15	4000 / linear foot	\$20,600.00		Υ
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$5.25	4000 / linear foot	\$21,000.00		Y
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
SAC Services 🙀		First Offer - \$5.40	4000 / linear foot	\$21,600.00		Y
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
Silver Star Construction Company		First Offer - \$5.50	4000 / linear foot	\$22,000.00		Y
Product Code:			Supplier Product Code	2:		
Agency Notes:			Supplier Notes:			

UPCSS-0001-01-88 BASE BID: 745-06 SWITCH FOR EXISTING TRAFFIC CONTROL CABINET							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Rudy Construction Co.	First Offer - \$2,100.00	2 / each	\$4,200.00		Υ		

	110 11 4010				
		Supplier Product Code: Supplier Notes:			
EMC SERVICES LLC	First Offer - \$2,100.00	2 / each	\$4,200.00	Υ	
		Supplier Product Code: Supplier Notes:			
MTZ Construction Inc., [Ad]	First Offer - \$2,175.00	2 / each	\$4,350.00	Y	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Silver Star Construction Company	First Offer - \$2,200.00	2 / each	\$4,400.00	Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$2,205.00	2 / each	\$4,410.00	Y	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
SAC Services 👔	First Offer - \$2,300.00	2 / each	\$4,600.00	Υ	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		

UPCSS-0001-01-89 BASE BID: 801-05 SURVEY CREW (TWO	O MAN)					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Silver Star Construction Company	First Offer - \$190.00	20 / hour	\$3,800.00		Υ	
Product Code:		Supplier Product C	Code:			
Agency Notes:		Supplier Notes:				
Rudy Construction Co.	First Offer - \$200.00	20 / hour	\$4,000.00		Y	
Product Code:		Supplier Product C	Code:			
Agency Notes:		Supplier Notes:				
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$225.00	20 / hour	\$4,500.00		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
MTZ Construction Inc., [Ad]	First Offer - \$240.00	20 / hour	\$4,800.00		Y	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
SAC Services	First Offer - \$250.00	20 / hour	\$5,000.00		Y	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
EMC SERVICES LLC	First Offer - \$300.00	20 / hour	\$6,000.00		Y	
Product Code:		Supplier Product C	Code:			
Agency Notes:		Supplier Notes:				

UPCSS-0001–01-90 BASE BID: 811-11 STRUCTURE REMOVAL (STORM SEWER INLET)					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
SAC Services 👔	First Offer - \$650.00	10 / each	\$6,500.00		Υ
Product Code:	Supplier Product Code:				
Agency Notes:		Supplier Notes:			
EMC SERVICES LLC	First Offer - \$800.00	10 / each	\$8,000.00		Y
Product Code:	Supplier Product Code:				
Agency Notes:		Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$900.00	10 / each	\$9,000.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
MTZ Construction Inc., [Ad]	First Offer - \$1,000.00	10 / each	\$10,000.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Silver Star Construction Company	First Offer - \$1,750.00	10 / each	\$17,500.00		Υ

Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Rudy Construction Co.	First Offer - \$3,500.00	10 / each	\$35,000.00	Y	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			

UPCSS-0001-01-91 BASE BID: 812-01 REMOVE SIDEWA	ılk				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
SAC Services 👔	First Offer - \$10.00	1000 / square yard	\$10,000.00		Y
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
EMC SERVICES LLC	First Offer - \$12.00	1000 / square yard	\$12,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$12.00	1000 / square yard	\$12,000.00		Y
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
MTZ Construction Inc., [Ad]	First Offer - \$12.00	1000 / square yard	\$12,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Silver Star Construction Company	First Offer - \$19.00	1000 / square yard	\$19,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Rudy Construction Co.	First Offer - \$20.00	1000 / square yard	\$20,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

UPCSS-0001–01-92 BASE BID: 812-02 REMOVE CURB AND	GUTTER				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
MTZ Construction Inc., [Ad]	First Offer - \$8.00	3500 / linear foot	\$28,000.00		Υ
Product Code:		Supplier Product Code	e:		
Agency Notes:		Supplier Notes:			
SAC Services 🙀	First Offer - \$8.75	3500 / linear foot	\$30,625.00		Υ
Product Code: Agency Notes:	Supplier Product Code Supplier Notes:	e:			
Rudy Construction Co.	First Offer - \$10.00	3500 / linear foot	\$35,000.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
EMC SERVICES LLC	First Offer - \$10.00	3500 / linear foot	\$35,000.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$12.00	3500 / linear foot	\$42,000.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Silver Star Construction Company	First Offer - \$20.00	3500 / linear foot	\$70,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:		

UPCSS-0001-01-93 BASE BID: 812-03 PAVEMENT REMOVAL								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
EMC SERVICES LLC	First Offer - \$10.00	10000 / square yard	\$100,000.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
MTZ Construction Inc., [Ad]	First Offer - \$12.00	10000 / square yard	\$120,000.00		Υ			

	Supplier Product Code:		
	Supplier Notes:		
First Offer - \$13.00	10000 / square yard	\$130,000.00	Y
	Supplier Product Code:		
	Supplier Notes:		
First Offer - \$13.00	10000 / square yard	\$130,000.00	Y
	Supplier Product Code:		
	Supplier Notes:		
First Offer - \$25.00	10000 / square yard	\$250,000.00	Y
	Supplier Product Code:		
	Supplier Notes:		
First Offer - \$26.50	10000 / square yard	\$265,000.00	Υ
	Supplier Product Code:		
	Supplier Notes:		
	First Offer - \$13.00 First Offer - \$25.00	Supplier Notes: First Offer - \$13.00 10000 / square yard Supplier Product Code: Supplier Notes: First Offer - \$13.00 10000 / square yard Supplier Product Code: Supplier Notes: First Offer - \$25.00 10000 / square yard Supplier Product Code: Supplier Notes: First Offer - \$26.50 10000 / square yard Supplier Notes: First Offer - \$26.50 10000 / square yard Supplier Product Code: Supplier Product Code:	Supplier Notes:

UPCSS-0001-01-94 BASE BID: 813-00 REMOVE DRIVE	EWAY					
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Rudy Construction Co.		First Offer - \$10.00	6000 / square yard	\$60,000.00		Υ
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
EMC SERVICES LLC		First Offer - \$11.00	6000 / square yard	\$66,000.00		Υ
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
MTZ Construction Inc., [Ad]		First Offer - \$12.00	6000 / square yard	\$72,000.00		Υ
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
SAC Services 👔		First Offer - \$13.00	6000 / square yard	\$78,000.00		Υ
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$15.00	6000 / square yard	\$90,000.00		Υ
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
Silver Star Construction Company		First Offer - \$17.50	6000 / square yard	\$105,000.00		Υ
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			

UPCSS-0001–01-95 BASE BID: 819-03 ADJUST EXISTING ST	RUCTURE (2-0 INLET REP	AIR)				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
SAC Services	First Offer - \$695.00	2 / each	\$1,390.00		Y	
Product Code:	Supplier Product (Code:				
Agency Notes:		Supplier Notes:				
MTZ Construction Inc., [Ad]	First Offer - \$1,000.00	2 / each	\$2,000.00		Y	
Product Code:	Supplier Product (Code:				
Agency Notes:		Supplier Notes:				
Rudy Construction Co.	First Offer - \$1,100.00	2 / each	\$2,200.00		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
EMC SERVICES LLC	First Offer - \$1,800.00	2 / each	\$3,600.00		Υ	
Product Code:		Supplier Product (Code:			
Agency Notes:		Supplier Notes:				
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$2,500.00	2 / each	\$5,000.00		Υ	
Product Code:		Supplier Product (Code:			
Agency Notes:		Supplier Notes:				
Silver Star Construction Company	First Offer - \$3,000.00	2 / each	\$6,000.00		Υ	

Product Code:
Agency Notes:

Supplier Product Code:
Supplier Notes:

UPCSS-0001–01-96 BASE BID: 819-04 ADJUST EXISTING ST	RUCTURE (2-1 INLET REP	AIR)				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
SAC Services 👔	First Offer - \$850.00	2 / each	\$1,700.00		Y	
Product Code: Agency Notes:	Supplier Product (Supplier Notes:	Code:				
MTZ Construction Inc., [Ad]	First Offer - \$1,100.00	2 / each	\$2,200.00		Y	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:			
Rudy Construction Co.	First Offer - \$1,500.00	2 / each	\$3,000.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
EMC SERVICES LLC	First Offer - \$1,900.00	2 / each	\$3,800.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$2,800.00	2 / each	\$5,600.00		Υ	
		Supplier Product (Supplier Notes:	Code:			
Silver Star Construction Company	First Offer - \$3,200.00	2 / each	\$6,400.00		Y	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:			

UPCSS-0001–01-97 BASE BID: 819-16 ADJUST EXISTING STRUCTURE (2-2 INLET REPAIR)						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
SAC Services 👔	First Offer - \$950.00	2 / each	\$1,900.00		Y	
Product Code: Agency Notes:	Supplier Product (Supplier Notes:	Code:				
MTZ Construction Inc., [Ad]	First Offer - \$1,200.00	2 / each	\$2,400.00		Υ	
Product Code: Agency Notes:	Supplier Product (Supplier Notes:	Code:				
Rudy Construction Co.	First Offer - \$1,800.00	2 / each	\$3,600.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
EMC SERVICES LLC	First Offer - \$2,000.00	2 / each	\$4,000.00		Υ	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$3,200.00	2 / each	\$6,400.00		Υ	
		Supplier Product (Supplier Notes:	Code:			
Silver Star Construction Company	First Offer - \$3,700.00	2 / each	\$7,400.00		Υ	
		Supplier Product (Supplier Notes:	Code:			

UPCSS-0001–01-98 BASE BID: 819-17 ADJUST EXISTING STRUCTURE (2-3 INLET REPAIR)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
SAC Services 👔	First Offer - \$1,010.00	2 / each	\$2,020.00		Y			
Product Code:		Supplier Product (Code:					
Agency Notes:		Supplier Notes:						
MTZ Construction Inc., [Ad]	First Offer - \$1,500.00	2 / each	\$3,000.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Rudy Construction Co.	First Offer - \$2,000.00	2 / each	\$4,000.00		Υ			

Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
EMC SERVICES LLC	First Offer - \$2,100.00	2 / each	\$4,200.00	Y	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$3,600.00	2 / each	\$7,200.00	Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Silver Star Construction Company	First Offer - \$4,200.00	2 / each	\$8,400.00	Υ	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		

UPCSS-0001-01-99 BASE BID: 819-10 STORM SEWER F	100	REPLACEMENT				
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$293.94	24 / each	\$7,054.56		Υ
Product Code:			Supplier Product C	Code:		
Agency Notes:			Supplier Notes:			
Rudy Construction Co.		First Offer - \$300.00	24 / each	\$7,200.00		Υ
Product Code:			Supplier Product C	Code:		
Agency Notes:			Supplier Notes:			
SAC Services		First Offer - \$330.00	24 / each	\$7,920.00		Υ
Product Code:			Supplier Product C	Code:		
Agency Notes:			Supplier Notes:			
EMC SERVICES LLC		First Offer - \$350.00	24 / each	\$8,400.00		Υ
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
MTZ Construction Inc., [Ad]		First Offer - \$450.00	24 / each	\$10,800.00		Υ
Product Code:			Supplier Product C	Code:		
Agency Notes:			Supplier Notes:			
Silver Star Construction Company		First Offer - \$780.00	24 / each	\$18,720.00		Υ
Product Code:			Supplier Product C	Code:		
Agency Notes:			Supplier Notes:			

UPCSS-0001-01-100 BASE BID: 819-20 STORM SEWER	CAST	GRATE REPLACEMENT	ſ				
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Rudy Construction Co.		First Offer - \$300.00	20 / each	\$6,000.00		Υ	
Product Code:			Supplier Product 0	Code:			
Agency Notes:			Supplier Notes:				
SAC Services 👔		First Offer - \$300.00	20 / each	\$6,000.00		Y	
Product Code:			Supplier Product 0	Code:			
Agency Notes:			Supplier Notes:				
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$323.37	20 / each	\$6,467.40		Y	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
EMC SERVICES LLC		First Offer - \$400.00	20 / each	\$8,000.00		Υ	
Product Code:			Supplier Product 0	Code:			
Agency Notes:			Supplier Notes:				
MTZ Construction Inc., [Ad]		First Offer - \$450.00	20 / each	\$9,000.00		Υ	
Product Code:			Supplier Product 0	Code:			
Agency Notes:			Supplier Notes:				
Silver Star Construction Company		First Offer - \$620.00	20 / each	\$12,400.00		Υ	
Product Code:			Supplier Product (Code:			
Agency Notes:			Supplier Notes:				

Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$277.02	10 / each	\$2,770.20		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
Rudy Construction Co.		First Offer - \$300.00	10 / each	\$3,000.00		Υ
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	ode:		
SAC Services 🙀		First Offer - \$330.00	10 / each	\$3,300.00		Y
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	ode:		
EMC SERVICES LLC		First Offer - \$400.00	10 / each	\$4,000.00		Υ
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	ode:		
MTZ Construction Inc., [Ad]		First Offer - \$450.00	10 / each	\$4,500.00		Υ
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	ode:		
Silver Star Construction Company		First Offer - \$900.00	10 / each	\$9,000.00		Υ
Product Code: Agency Notes:	,		Supplier Product Co Supplier Notes:	ode:		

UPCSS-0001-01-102 BASE BID: 820-00 SAWCUT PAVEMEN	ΝT	(LOOPS)				
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
EMC SERVICES LLC		First Offer - \$5.00	500 / linear foot	\$2,500.00		Y
Product Code:			Supplier Product Cod	le:		
Agency Notes:			Supplier Notes:			
Rudy Construction Co.		First Offer - \$5.50	500 / linear foot	\$2,750.00		Y
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
SAC Services 🙀		First Offer - \$5.50	500 / linear foot	\$2,750.00		Y
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$5.50	500 / linear foot	\$2,750.00		Y
Product Code:			Supplier Product Cod	le:		
Agency Notes:			Supplier Notes:			
Silver Star Construction Company		First Offer - \$5.50	500 / linear foot	\$2,750.00		Y
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
MTZ Construction Inc., [Ad]		First Offer - \$8.75	500 / linear foot	\$4,375.00		Y
Product Code:			Supplier Product Cod	le:		
Agency Notes:			Supplier Notes:			

UPCSS-0001-01-103 BASE BID: 823-00 SIDEWALK					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$45.00	8000 / square yard	\$360,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
EMC SERVICES LLC	First Offer - \$58.00	8000 / square yard	\$464,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Rudy Construction Co.	First Offer - \$60.00	8000 / square yard	\$480,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MTZ Construction Inc., [Ad]	First Offer - \$60.00	8000 / square yard	\$480,000.00		Υ

Product Code:			Supplier Product Code:			
Agency Notes:	ncy Notes: Su		Supplier Notes:			
SAC Services 🙀		First Offer - \$62.00	8000 / square yard	\$496,000.00		Y
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
Silver Star Construction Company		First Offer - \$81.00	8000 / square yard	\$648,000.00		Υ
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			

UPCSS-0001-01-104 BASE BID: 823-03 6 INCH P.C. CONC	. DRIVEWAY (HES)				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
EMC SERVICES LLC	First Offer - \$70.00	6000 / square yard	\$420,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MTZ Construction Inc., [Ad]	First Offer - \$70.00	6000 / square yard	\$420,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Rudy Construction Co.	First Offer - \$75.00	6000 / square yard	\$450,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$75.00	6000 / square yard	\$450,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
SAC Services	First Offer - \$80.50	6000 / square yard	\$483,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Silver Star Construction Company	First Offer - \$87.00	6000 / square yard	\$522,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

UPCSS-0001-01-105 BASE BID: 823-11 8 INCH P.C. CONC	DRIVEWAY (3000 PSI H	IES)			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
EMC SERVICES LLC	First Offer - \$78.00	500 / square yard	\$39,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:		
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$78.00	500 / square yard	\$39,000.00		Υ
Product Code: Agency Notes:	Supplier Product Code Supplier Notes:	e:			
MTZ Construction Inc., [Ad]	First Offer - \$80.00	500 / square yard	\$40,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:		
Rudy Construction Co.	First Offer - \$95.00	500 / square yard	\$47,500.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:		
SAC Services	First Offer - \$95.00	500 / square yard	\$47,500.00		Y
Product Code:		Supplier Product Code Supplier Notes:	2:		
Silver Star Construction Company	First Offer - \$120.00	500 / square yard	\$60,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:		

UPCSS-0001–01-106 BASE BID: 823-12 10 INCH P.C. CONC. DRIVEWAY (3000 PSI HES)							
Supplier Unit Price Qty/Unit Total Price Attch. Doo							
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$80.00	500 / square yard	\$40,000.00		Y		

		Supplier Product Code Supplier Notes:	:	
EMC SERVICES LLC	First Offer - \$84.00	500 / square yard	\$42,000.00	Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:	
MTZ Construction Inc., [Ad]	First Offer - \$90.00	500 / square yard	\$45,000.00	Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:	
Rudy Construction Co.	First Offer - \$100.00	500 / square yard	\$50,000.00	Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:	
SAC Services	First Offer - \$107.65	500 / square yard	\$53,825.00	Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:	
Silver Star Construction Company	First Offer - \$130.00	500 / square yard	\$65,000.00	Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:	

UPCSS-0001-01-107 BASE BID: 823-16 ARTICULATING JO	INT STRIPS			UPCSS-0001–01-107 BASE BID: 823-16 ARTICULATING JOINT STRIPS							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs						
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$20.90	100 / linear foot	\$2,090.00		Y						
Product Code:		Supplier Product Cod	le:								
Agency Notes:		Supplier Notes:									
SAC Services	First Offer - \$30.00	100 / linear foot	\$3,000.00		Y						
Product Code:		Supplier Product Cod	le:								
Agency Notes:		Supplier Notes:									
Rudy Construction Co.	First Offer - \$35.00	100 / linear foot	\$3,500.00		Y						
Product Code:		Supplier Product Code:									
Agency Notes:		Supplier Notes:									
EMC SERVICES LLC	First Offer - \$35.00	100 / linear foot	\$3,500.00		Υ						
Product Code:		Supplier Product Cod	le:								
Agency Notes:		Supplier Notes:									
MTZ Construction Inc., [Ad]	First Offer - \$35.00	100 / linear foot	\$3,500.00		Υ						
Product Code:		Supplier Product Code:									
Agency Notes:		Supplier Notes:									
Silver Star Construction Company	First Offer - \$95.00	100 / linear foot	\$9,500.00		Y						
Product Code:		Supplier Product Cod	le:								
Agency Notes:		Supplier Notes:									

UPCSS-0001-01-108 BASE BID: 826-08 PERFORATED PIPE	UNDERDRAIN (6 INCH)				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Rudy Construction Co.	First Offer - \$15.00	500 / linear foot	\$7,500.00		Υ	
Product Code:		Supplier Product Cod	le:			
Agency Notes:		Supplier Notes:				
EMC SERVICES LLC	First Offer - \$19.00	500 / linear foot	\$9,500.00		Υ	
Product Code:	Supplier Product Code:					
Agency Notes:		Supplier Notes:				
MTZ Construction Inc., [Ad]	First Offer - \$25.00	500 / linear foot	\$12,500.00		Y	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$28.00	500 / linear foot	\$14,000.00		Y	
Product Code:		Supplier Product Cod	le:			
Agency Notes:		Supplier Notes:				
SAC Services 🙀	First Offer - \$29.80	500 / linear foot	\$14,900.00		Y	

Product Code:		Supplier Product Code:				
		Supplier Notes:				
Silver Star Construction Company First Offer - \$37.00		500 / linear foot	\$18,500.00		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:			Supplier Notes:			

UPCSS-0001–01-109 BASE BID: 826-09 NON-PERFORATED PIPE UNDERDRAIN (6 INCH)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Rudy Construction Co.	First Offer - \$15.00	500 / linear foot	\$7,500.00		Υ		
Product Code:		Supplier Product Cod	de:				
Agency Notes:		Supplier Notes:					
EMC SERVICES LLC	First Offer - \$19.00	500 / linear foot	\$9,500.00		Υ		
Product Code:		Supplier Product Cod	de:				
Agency Notes:		Supplier Notes:					
MTZ Construction Inc., [Ad]	First Offer - \$25.00	500 / linear foot	\$12,500.00		Υ		
Product Code:		Supplier Product Cod	de:				
Agency Notes:		Supplier Notes:					
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$28.00	500 / linear foot	\$14,000.00		Υ		
Product Code:		Supplier Product Cod	de:				
Agency Notes:		Supplier Notes:					
SAC Services	First Offer - \$29.80	500 / linear foot	\$14,900.00		Y		
Product Code:		Supplier Product Cod	de:				
Agency Notes:		Supplier Notes:					
Silver Star Construction Company	First Offer - \$37.00	500 / linear foot	\$18,500.00		Y		
Product Code:		Supplier Product Cod	de:				
Agency Notes:		Supplier Notes:					

UPCSS-0001-01-110 BASE BID: 828-08 FENCE 4 FT. CHA	IN	LINK (COMPLETE IN PL	_ACE)				
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs	
EMC SERVICES LLC		First Offer - \$35.00	100 / linear foot	\$3,500.00		Υ	
Product Code:			Supplier Product Co	de:			
Agency Notes:			Supplier Notes:				
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$40.00	100 / linear foot	\$4,000.00		Υ	
Product Code:		Supplier Product Co	de:				
Agency Notes:			Supplier Notes:				
Silver Star Construction Company		First Offer - \$45.00	100 / linear foot	\$4,500.00		Y	
Product Code:			Supplier Product Co	de:			
Agency Notes:			Supplier Notes:				
SAC Services 👔		First Offer - \$46.00	100 / linear foot	\$4,600.00		Y	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
Rudy Construction Co.		First Offer - \$50.00	100 / linear foot	\$5,000.00		Υ	
Product Code:			Supplier Product Co	de:			
Agency Notes:			Supplier Notes:				
MTZ Construction Inc., [Ad]		First Offer - \$120.00	100 / linear foot	\$12,000.00		Υ	
Product Code:			Supplier Product Co	de:			
Agency Notes:			Supplier Notes:				

UPCSS-0001–01-111 BASE BID: 830-01 TACTILE MARKERS/TRUNCATED DOMES								
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Silver Star Construction Company		First Offer - \$18.00	1600 / square foot	\$28,800.00		Υ		
Product Code:			Supplier Product Code:					
Agency Notes:			Supplier Notes:					
Rudy Construction Co.		First Offer - \$30.00	1600 / square foot	\$48,000.00		Υ		

Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
EMC SERVICES LLC	First Offer - \$32.00	1600 / square foot	\$51,200.00	Υ	
		Supplier Product Code: Supplier Notes:			
SAC Services 🙀	First Offer - \$35.00	1600 / square foot	\$56,000.00	Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$40.00	1600 / square foot	\$64,000.00	Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MTZ Construction Inc., [Ad]	First Offer - \$40.00	1600 / square foot	\$64,000.00	Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	·		

UPCSS-0001-01-112 BASE BID: 830-02 ADA CURB RAMF	(6 INCH)				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
MTZ Construction Inc., [Ad]	First Offer - \$95.00	500 / square yard	\$47,500.00		Υ
Product Code:		Supplier Product Code	2:		
Agency Notes:		Supplier Notes:			
EMC SERVICES LLC	First Offer - \$96.00	500 / square yard	\$48,000.00		Y
Product Code:		Supplier Product Code	2:		
Agency Notes:		Supplier Notes:			
SAC Services 🙀	First Offer - \$98.00	500 / square yard	\$49,000.00		Υ
Product Code:		Supplier Product Code	: :		
Agency Notes:		Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$100.00	500 / square yard	\$50,000.00		Y
Product Code:		Supplier Product Code	:		
Agency Notes:		Supplier Notes:			
Rudy Construction Co.	First Offer - \$130.00	500 / square yard	\$65,000.00		Υ
Product Code:		Supplier Product Code	:		
Agency Notes:		Supplier Notes:			
Silver Star Construction Company	First Offer - \$185.00	500 / square yard	\$92,500.00		Υ
Product Code:		Supplier Product Code	2:		
Agency Notes:		Supplier Notes:			

Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Ellsworth Construction OKC dba A-Tech Paving	First Offer	- \$102.00	300 / square yard	\$30,600.00		Υ
Product Code:			Supplier Product Code	2:		
Agency Notes:			Supplier Notes:			
EMC SERVICES LLC	First Offer	- \$105.00	300 / square yard	\$31,500.00		Y
Product Code:			Supplier Product Code	e:		
Agency Notes:			Supplier Notes:			
MTZ Construction Inc., [Ad]	First Offer	- \$105.00	300 / square yard	\$31,500.00		Υ
Product Code:			Supplier Product Code	e:		
Agency Notes:			Supplier Notes:			
SAC Services 👔	First Offer	- \$106.00	300 / square yard	\$31,800.00		Y
Product Code:			Supplier Product Code	e:		
Agency Notes:			Supplier Notes:			
Rudy Construction Co.	First Offer	- \$150.00	300 / square yard	\$45,000.00		Υ
Product Code:			Supplier Product Code	e:		
Agency Notes:			Supplier Notes:			
Silver Star Construction Company	First Offer	- \$200.00	300 / square yard	\$60,000.00		Υ

bid #UPCSS-0001 -Concrete Street and

City of Oklahoma City and its Trusts

Product Code:
Agency Notes:

Supplier Product Code:
Supplier Notes:

UPCSS-0001-01-114 BASE BID: 840-00 SOLID SLAB S	SODDI	NG				
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Rudy Construction Co.		First Offer - \$3.00	10000 / square yard	\$30,000.00		Υ
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
Silver Star Construction Company		First Offer - \$3.00	10000 / square yard	\$30,000.00		Y
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
EMC SERVICES LLC		First Offer - \$4.00	10000 / square yard	\$40,000.00		Y
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
SAC Services 👔		First Offer - \$5.00	10000 / square yard	\$50,000.00		Y
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$6.00	10000 / square yard	\$60,000.00		Υ
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
MTZ Construction Inc., [Ad]		First Offer - \$6.00	10000 / square yard	\$60,000.00		Υ
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			

UPCSS-0001–01-115 BASE BID: 843-16 TREE REMOVAL (OVER 3 INCHES TO 12 INCHES CALIPER)						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
EMC SERVICES LLC	First Offer - \$1,000.00	1 / each	\$1,000.00		Υ	
		Supplier Product Code: Supplier Notes:				
MTZ Construction Inc., [Ad]	First Offer - \$1,000.00	1 / each	\$1,000.00		Υ	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:			
SAC Services 🙀	First Offer - \$1,200.00	1 / each	\$1,200.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$1,350.00	1 / each	\$1,350.00		Υ	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:			
Rudy Construction Co.	First Offer - \$1,500.00	1 / each	\$1,500.00		Υ	
Product Code: Agency Notes:	Supplier Product (Supplier Notes:	Code:				
Silver Star Construction Company	First Offer - \$2,100.00	1 / each	\$2,100.00		Υ	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:			

UPCSS-0001–01-116 BASE BID: 843-17 TREE REMOVAL (OVER 12 INCHES CALIPER)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
EMC SERVICES LLC	First Offer - \$1,500.00	1 / each	\$1,500.00		Υ			
Product Code: Supplier Product Code:								
Agency Notes:		Supplier Notes:						
MTZ Construction Inc., [Ad]	First Offer - \$1,500.00	1 / each	\$1,500.00		Υ			
Product Code:		Supplier Product (Code:					
Agency Notes:		Supplier Notes:						
SAC Services	First Offer - \$2,300.00	1 / each	\$2,300.00		Υ			

		Supplier Product Code: Supplier Notes:			
Silver Star Construction Company	First Offer - \$2,500.00	1 / each	\$2,500.00	Y	
		Supplier Product Code: Supplier Notes:			
Rudy Construction Co.	First Offer - \$3,000.00	1 / each	\$3,000.00	Υ	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$3,000.00	1 / each	\$3,000.00	Y	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		

UPCSS-0001-01-117 BASE BID: 900-04 TRIANGULAR	SILT I	DIKES					
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs	
EMC SERVICES LLC		First Offer - \$10.00	100 / linear foot	\$1,000.00		Υ	
Product Code:			Supplier Product Cod	le:			
Agency Notes:			Supplier Notes:				
SAC Services 👔		First Offer - \$12.50	100 / linear foot	\$1,250.00		Y	
Product Code:			Supplier Product Cod	le:			
Agency Notes:			Supplier Notes:				
Rudy Construction Co.		First Offer - \$15.00	100 / linear foot	\$1,500.00		Υ	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
Silver Star Construction Company		First Offer - \$15.00	100 / linear foot	\$1,500.00		Υ	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
MTZ Construction Inc., [Ad]		First Offer - \$15.00	100 / linear foot	\$1,500.00		Υ	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$18.00	100 / linear foot	\$1,800.00		Y	
Product Code:			Supplier Product Cod	le:			
Agency Notes:			Supplier Notes:				

UPCSS-0001-01-118 BASE BID: 900-09 ROCK BAG SILT FEI	NCE				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
SAC Services	First Offer - \$5.00	100 / linear foot	\$500.00		Υ
		Supplier Product Cod Supplier Notes:	le:		
Silver Star Construction Company	First Offer - \$5.00	100 / linear foot	\$500.00		Y
Product Code: Agency Notes:	Supplier Product Cod Supplier Notes:	le:			
Rudy Construction Co.	First Offer - \$10.00	100 / linear foot	\$1,000.00		Υ
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:		
EMC SERVICES LLC	First Offer - \$10.00	100 / linear foot	\$1,000.00		Υ
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:		
MTZ Construction Inc., [Ad]	First Offer - \$10.00	100 / linear foot	\$1,000.00		Υ
		Supplier Product Cod Supplier Notes:	le:		
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$18.00	100 / linear foot	\$1,800.00		Υ
		Supplier Product Cod Supplier Notes:	le:		

UPCSS-0001–01-119 BASE BID: 982-00 PIPERAIL (POWDER COATED STEEL) (3 INCH)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
EMC SERVICES LLC	First Offer - \$100.00	100 / linear foot	\$10,000.00		Υ				
		Supplier Product Coo Supplier Notes:	de:						
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$105.00	100 / linear foot	\$10,500.00		Y				
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:						
Rudy Construction Co.	First Offer - \$130.00	100 / linear foot	\$13,000.00		Υ				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
SAC Services 👔	First Offer - \$130.00	100 / linear foot	\$13,000.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
MTZ Construction Inc., [Ad]	First Offer - \$135.00	100 / linear foot	\$13,500.00		Υ				
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:						
Silver Star Construction Company	First Offer - \$185.00	100 / linear foot	\$18,500.00		Υ				
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:						

UPCSS-0001-01-120 BASE BID: 982-01 PIPERAIL (POWDER COATED STEEL) (1.5 INCH)									
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$95.00	100 / linear foot	\$9,500.00		Υ			
Product Code:			Supplier Product Co	de:					
Agency Notes:			Supplier Notes:						
EMC SERVICES LLC		First Offer - \$100.00	100 / linear foot	\$10,000.00		Υ			
Product Code:			Supplier Product Co	de:					
Agency Notes:			Supplier Notes:						
SAC Services 🙀		First Offer - \$110.00	100 / linear foot	\$11,000.00		Υ			
Product Code:			Supplier Product Code:						
Agency Notes:			Supplier Notes:						
Rudy Construction Co.		First Offer - \$115.00	100 / linear foot	\$11,500.00		Υ			
Product Code:			Supplier Product Code:						
Agency Notes:			Supplier Notes:						
MTZ Construction Inc., [Ad]		First Offer - \$135.00	100 / linear foot	\$13,500.00		Υ			
Product Code:			Supplier Product Co	de:					
Agency Notes:			Supplier Notes:						
Silver Star Construction Company		First Offer - \$185.00	100 / linear foot	\$18,500.00		Υ			
Product Code:			Supplier Product Co	de:					
Agency Notes:			Supplier Notes:						

UPCSS-0001–01-121 BASE BID: 982-02 PEDESTRIAN HANDRAIL-OPTION 1 (POWDER COATED STEEL) (1.5 INCH)							
Supplier		Unit Price	Qty/Unit		Total Price	Attch.	Docs
EMC SERVICES LLC		First Offer - \$100.00	100 / linear foot		\$10,000.00		Y
Product Code:			Supplier Product Co	de:			
Agency Notes:			Supplier Notes:				
SAC Services 👔		First Offer - \$110.00	100 / linear foot		\$11,000.00		Y
Product Code:			Supplier Product Co	de:			
Agency Notes:			Supplier Notes:				
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$110.00	100 / linear foot		\$11,000.00		Y
Product Code:			Supplier Product Co	de:			
Agency Notes:			Supplier Notes:				
Rudy Construction Co.		First Offer - \$115.00	100 / linear foot		\$11,500.00		Υ

		Supplier Product Code: Supplier Notes:				
MTZ Construction Inc., [Ad]		First Offer - \$135.00	100 / linear foot	\$13,500.00		Υ
Product Code:		Supplier Product Code:				
Agency Notes:			Supplier Notes:			
Silver Star Construction Company		First Offer - \$185.00	100 / linear foot	\$18,500.00		Υ
Product Code:			Supplier Product Co	de:		
Agency Notes:			Supplier Notes:			

UPCSS-0001–01-122 BASE BID: 982-03 PEDESTRIAN HANDRAIL-OPTION 2 (POWDER COATED STEEL) (1.5 INCH)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
EMC SERVICES LLC	First Offer - \$100.00	100 / linear foot	\$10,000.00		Υ				
Product Code:		Supplier Product Co	de:						
Agency Notes:	Supplier Notes:								
SAC Services 🙀	First Offer - \$110.00	100 / linear foot	\$11,000.00		Y				
Product Code:		Supplier Product Co	de:						
Agency Notes:		Supplier Notes:							
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$110.00	100 / linear foot	\$11,000.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Rudy Construction Co.	First Offer - \$130.00	100 / linear foot	\$13,000.00		Υ				
Product Code:		Supplier Product Co	de:						
Agency Notes:		Supplier Notes:							
MTZ Construction Inc., [Ad]	First Offer - \$135.00	100 / linear foot	\$13,500.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Silver Star Construction Company	First Offer - \$185.00	100 / linear foot	\$18,500.00		Υ				
		Supplier Product Coo Supplier Notes:	de:						

UPCSS-0001-01-123 BASE BID: 988-01 GEOTEXTILE SE	PARATOR FABRIC FOR	BASES				
Supplier	Unit Pric	e Qty/Unit	Total Price	Attch.	Docs	
SAC Services 👔	First Offer - \$2.40	4000 / square yard	\$9,600.00		Υ	
		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Silver Star Construction Company	First Offer - \$2.70	4000 / square yard	\$10,800.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Rudy Construction Co.	First Offer - \$3.00	4000 / square yard	\$12,000.00		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
EMC SERVICES LLC	First Offer - \$3.00	4000 / square yard	\$12,000.00		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$4.00	4000 / square yard	\$16,000.00		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
MTZ Construction Inc., [Ad]	First Offer - \$4.00	4000 / square yard	\$16,000.00		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				

UPCSS-0001–01-124 BASE BID: SP IRRIGATION REPLACEMENT / REPAIR - 1/2"								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
SAC Services 🙀	First Offer - \$15.00	50 / linear foot	\$750.00		Y			

			Supplier Product Code: Supplier Notes:			
EMC SERVICES LLC	П	First Offer - \$20.00	50 / linear foot	\$1,000.00	Y	
Product Code:	ш		Supplier Product Co			
Agency Notes:			Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$20.00	50 / linear foot	\$1,000.00	Y	
Product Code:			Supplier Product Co	de:		
Agency Notes:			Supplier Notes:			
MTZ Construction Inc., [Ad]		First Offer - \$20.00	50 / linear foot	\$1,000.00	Y	
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
Rudy Construction Co.		First Offer - \$30.00	50 / linear foot	\$1,500.00	Y	
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
Silver Star Construction Company		First Offer - \$41.00	50 / linear foot	\$2,050.00	Y	
Product Code:			Supplier Product Co	de:		
Agency Notes:			Supplier Notes:			

UPCSS-0001–01-125 BASE BID: SP IRRIGATION HEAD REPA	IR / REPLACEMENT					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
SAC Services	First Offer - \$55.00	1 / each	\$55.00		Υ	
Product Code: Agency Notes:	Supplier Product C Supplier Notes:	ode:				
MTZ Construction Inc., [Ad]	First Offer - \$75.00	1 / each	\$75.00		Υ	
Product Code: Agency Notes:	Supplier Product C Supplier Notes:	ode:				
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$165.00	1 / each	\$165.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
EMC SERVICES LLC	First Offer - \$250.00	1 / each	\$250.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:			
Rudy Construction Co.	First Offer - \$300.00	1 / each	\$300.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:			
Silver Star Construction Company	First Offer - \$500.00	1 / each	\$500.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:			

JPCSS-0001–01-126 BASE BID: 700-00 TRAFFIC CONTROL (4 LANE MILE SECTION)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
SAC Services 🙀	First Offer - \$9,559.00	1 / lump sum	\$9,559.00		Y		
Product Code:		Supplier Product (Code:				
Agency Notes:		Supplier Notes:					
EMC SERVICES LLC	First Offer - \$9,559.00	1 / lump sum	\$9,559.00		Υ		
Product Code: Supplier Product Code:			Code:				
Agency Notes:		Supplier Notes:					
MTZ Construction Inc., [Ad]	First Offer - \$11,000.00	1 / lump sum	\$11,000.00		Υ		
Product Code:		Supplier Product (Code:				
Agency Notes:		Supplier Notes:					
Silver Star Construction Company	First Offer - \$12,000.00	1 / lump sum	\$12,000.00		Υ		
Product Code:		Supplier Product (Code:				
Agency Notes:		Supplier Notes:					
Rudy Construction Co.	First Offer - \$15,000.00	1 / lump sum	\$15,000.00		Υ		
Product Code:		Supplier Product (Code:				

Agency Notes:	Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$16,086.25	1 / lump sum	\$16,086.25	Υ
Product Code:		Supplier Product C	Code:	
Agency Notes:		Supplier Notes:		

UPCSS-0001-01-127 BASE BID: 700-00 TRAFFIC CONTROL	. (2 LANE MILE SECTION)				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
SAC Services	First Offer - \$5,775.00	1 / lump sum	\$5,775.00		Y
Product Code: Agency Notes:	Supplier Product (Supplier Notes:	Code:			
EMC SERVICES LLC	First Offer - \$6,500.00	1 / lump sum	\$6,500.00		Y
Product Code: Agency Notes:	Supplier Product (Supplier Notes:	Code:			
MTZ Construction Inc., [Ad]	First Offer - \$6,750.00	1 / lump sum	\$6,750.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Silver Star Construction Company	First Offer - \$8,000.00	1 / lump sum	\$8,000.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Rudy Construction Co.	First Offer - \$10,000.00	1 / lump sum	\$10,000.00		Υ
Product Code: Agency Notes:	Supplier Product (Supplier Notes:	Code:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$11,773.75	1 / lump sum	\$11,773.75		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:	·	

UPCSS-0001–01-128 BASE BID: 700-00 TRAFFIC CONTROL (SIGNALIZED INTERSECTION)					
Supplier	Unit Price	,	Total Price	Attch.	Docs
Rudy Construction Co.	First Offer - \$1,200.00	2 / each	\$2,400.00		Υ
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
EMC SERVICES LLC	First Offer - \$1,850.00	2 / each	\$3,700.00		Υ
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
Silver Star Construction Company	First Offer - \$2,000.00	2 / each	\$4,000.00		Υ
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
SAC Services	First Offer - \$2,035.00	2 / each	\$4,070.00		Y
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
MTZ Construction Inc., [Ad]	First Offer - \$2,500.00	2 / each	\$5,000.00		Υ
		Supplier Product Code: Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$4,636.88	2 / each	\$9,273.76		Υ
		Supplier Product (Supplier Notes:	Code:		

UPCSS-0001–01-129 BASE BID: 700-00 TRAFFIC CONTROL (CHANGEABLE MESSAGE SIGNS)						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
EMC SERVICES LLC	First Offer - \$70.00	3 / day	\$210.00		Y	
Product Code:	Supplier Product Code:					
Agency Notes:		Supplier Notes:				
SAC Services 🙀	First Offer - \$120.00	3 / day	\$360.00		Y	
Product Code:		Supplier Product (Code:			

Agency Notes:	Supplier Notes:				
MTZ Construction Inc., [Ad]	First Offer - \$160.00	3 / day	\$480.00	Υ	Y
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
Silver Star Construction Company	First Offer - \$375.00	3 / day	\$1,125.00		Y
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$597.42	3 / day	\$1,792.26	Υ	Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Bid bond uploaded here, could not be uploaded under bid bond link.			
Rudy Construction Co.	First Offer - \$600.00	3 / day	\$1,800.00	Υ	Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

Supplier Totals	5		
f EMC SERVICES LLC		\$4,678,174.00 (129/129 items)	
Bid Contact	Saul Elizondo emcservicesllc16@gmail.com Ph 405-605-8131	Address 1400 SW 56th ST Oklahoma City , OK 73119	
Qualifications	OKC PRE-QUALIFIED CONTRACTORS		
Agency Notes:			Head Attch: ∭
f Rudy Constr	uction Co.	\$4,871,450.00 (129/129 items)	
Bid Contact	Doug Walker kratliff@rudycc.com Ph 405-478-9900 Fax 405-478-9901	Address 3101 NE 63rd Street Oklahoma City, OK 73121	
Qualifications	OKC PRE-QUALIFIED CONTRACTORS		
Agency Notes:			Head Attch: 🎚
f MTZ Constru	uction lnc., [Ad]	\$4,951,367.45 (129/129 it	ems)
Bid Contact	Jose Martinez elvia.martinez@live.com Ph 405-593-1395 Fax 405-686-0716	Address 3545 sw 37th st oklahoma, OK 73119	
Qualifications	OKC PRE-QUALIFIED CONTRACTORS		
Bid Bond	(Status: A bond with the supplied contract id w	as not found)	
Bid Notes	Bond was attached as a PDF file to the last Pay Item. We received the following message when trying to import the bid bond."The bid bond could not be verified."		
Agency Notes:		Supplier Notes: Bond was attached as a PDF file to the Pay Item. We received the following message when trying to import the bid bond."The bid bond could not be verific	Ð
f Ellsworth Co	onstruction OKC dba A-Tech Paving	\$4,992,023.78 (129/129 it	ems)
Bid Contact	Tim Lunday okcbids@ellsworthinc.com	Address 500 N Vickie DR Oklahoma City, OK 73117	

Ph 405-418-4741 Qualifications OKC PRE-QUALIFIED CONTRACTORS **Bid Notes** Bid bond uploaded to the last line item, could not be uploaded under bid bond link. **Agency Notes: Supplier Notes:** Head Bid bond uploaded to the last line item, Attch: could not be uploaded under bid bond link. f SAC Services \$5,500,849.00 (129/129 items) Bid Contact Yime Favela Address 3600 S Ross Ave arturo@sacservicesinc.com Oklahoma City, OK 73119 Ph 405-682-4849 Fax 405-686-0882 Qualifications MBE OKC PRE-QUALIFIED CONTRACTORS Bid Bond 寊 (Status: Authorized on Mar 12, 2025) **Head Attch: Agency Notes: Supplier Notes:**

f Silver Star Construction Company	\$7,450,710.00 (129/129 items)
------------------------------------	--------------------------------

Bid Contact Amber Harris

tim@silverstarconst.com

Ph 405-793-1725

Qualifications CS ARCH ENG OKC PRE-QUALIFIED CONTRACTORS

Bid Bond [Status: A bond with the supplied contract id was not found)

Bid Notes BID BOND ATTACHED TO LINE ITEM 1

Agency Notes: Supplier Notes: Head Attch:

BID BOND ATTACHED TO LINE ITEM |

2401 S Broadway

Moore, OK 73160

1

Address

**All bids/proposals submitted for the designated project are reflected on this tabulation sheet. However, the listing of the bid/proposal on this tabulation sheet shall not be construed as a comment on the responsiveness of such bid/proposal or as any indication that the agency accepts such bid/proposal as being responsive. The agency will make a determination as to the responsiveness of the vendor responses submitted based upon compliance with all applicable laws, purchasing guidelines and project documents, including but not limited to the project specifications and contract documents. The agency will notify the successful vendor upon award of the contract and, as according to the law, all bid/proposal responses received may be available for inspection at that time.